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Illustration 9. T AR ot @l Gl & T a9y we @ wi-gd =1 faewor 4
Hafa9 SRV AT ] TUHT HifTT—

SEfm T (2 F) oo W = 92 W 24 918 T
2509 9 6.00 0.40

250 3 800 & =W 5.90 0.30

800 3R 2,000 ¥ F1 5.80 0.20

2,000 3R 4,000 ¥ F1 5.70 0.10
4,000 3R e 5.60

mﬁlaﬁaﬁmmwma%mﬁﬁmmmmaﬂmmm
20% Wi a4 &1 TRW AT W TRW 6 To B

Solution :
Ch=20%0f T6=1T1.20

2.RC,  [2x4,000x6
0 C. 30 = /40,000 = 200 tons

Calculation of T.I.C. for different proposals is on next page.

INustration 10. T% Fmfa = fael we=t wmnft *1 1,000 =41 fa 9% «)
EEHAl ]| SRYA AN 15 To W W §1 R 559 2 To Wi Tl @ I ahwa
g H 15% i g ufa ad st @1 w1 ha 9ed 10 o WA geTS B fivasrh
SRV AT FI HIIC 99 | AR Feniferdl Fmfar Y 2,000 A @ s W 5,000
T @ FH ARY W 5% HAN D K 1 wWwb 5,000 q AF THER B AR W 2%
Ffafier weXd @ S 21 = forered § Q w8 R 9w 2

Solution :

e aavIRal R = 1,000 x 12 = 12,000 units
ERR I EaH P=210

WW Cp = T 15 per order

Ch=F2+Px0.15=F2+10x0.15= T 3.50

£0Q— F ZXIZSO?X‘S =320.170r 321 units

TIC at EOQ = Purchase Price + Ordering Costs + Carrying Costs

=(RxP)+(%xCPJ+[%xChJ

=12,000 x 10+ —— 12,000 15+§2—1x350
321 2

= 1,20,000 + 561 + 561 = T 1,21,122
Total Cost at EOQ of 2,000 units = 12,000 x 9.50 + 122;?(;): x 15+ 2’200 « 3425

=1,14,000 + 90+ 3,425 = ¥ 1,17,515

Total Cost at EOQ of 5,000 units = 12,000 x 9.30 + 12’0(;)(;) x 15+ 5";00 x 3395

»

=1,11,600 + 36 + 8,487.50 = ¥ 1,20,123.50
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IeareA favmm wa far fasmn & wea e

frel ft Jeaes T ¥ 9% eS8 e @ T Y fawrd ) dansh w1 swEm
Pact IAEA faum & w1 wo Y favm 1Y R A 2 i Faneh &1 swar I
= Jfafer g ¥ fawm § F3a B1 S @ T SuRTed, TOHd, 9 IR g1l A 1R
fawm ¥ fome S9dm I & Wa-w1g Y e 5T e St 1 3 ot T fasm
I9feqa FEa &1 3 IuReaal &1 favom wewas Seire a9 dan faunil & wex i s 21
TATE AT T faum & Iufieml 1 Sfwer IR ag1 o7 Ja faur & e fwa
e 21 37 A v = ST B wfen Wit SuRerd s w9 A Sare faeri # fraka
B Wl 39 ¥ WqGE: e vefrdl w1 s fear s g §—

1. gITad THIEHTOT Tegler (Simultaneous Equation Method)—3%8 Y5fd 1 ¥ shast
I wemel W fra o1 W 2, o Afaeram 2 W 3 Awn fawm ® T vel ¥ e
T F HeH | YAS Ja faun S Ha gier U we oo st & s o
faam & g1 I @ 7 Y w1 e o whRfAd S 21 FOvER %o SuRerdl B Ol &)
fafir= Ieare o T fyardl @ e Frwffte Shormi @ emar W fasfra &= fean <t @ e
T\ YR Fa fasril # i 9 @ S @ o gw i fafie S fmll & softerd 4
offea & 9 2

mmwm%ﬁaﬁﬁmﬁmﬁmﬁ%vmmmﬁnwﬁ
mgmmmw semfila W mmammmmma
S 1

2. Qg fauTerT wgfer (Repeated Distribution Method)—%8 Wgfa ® Fan fawmii
& = &) wew aR fafe= Sear E e fave ¥ freita sfova @ smear W fawfse fea
S 2| e o Ao @ are i dan el F seet ot o7y ot € S T fafe
Ieare Td Jan fawmil F faafta feran s & a1 3% whma1 a9 e Qe i ] 9 da
faamit < A I T € 91 38 vEfa % 9R ¥ e 9 e w9 ¥ e vt \fte—

(i) T faeo & wveEE Yo faumh @ Iuftem wEn: &9 9 Saed faumi &
Iufieg =ga Sran)|

(u)aﬁnfaam%m%mm%wﬁwuwﬁmﬁmmﬁrWﬁ
sHfafea Iufemd #1 9 g IuREd & S9F & STem

Ilustration 4. Mahindra Machinists Ltd. have three production departments (A, B
and C) and two Service Departments (D and E). From the following figures extracted from
the records of the company, calculate the overhead rate per labour hour :

Indirect materials 1 5?\(-)00
Indirect wages 10,000
Depreciation on machinery 25,000
Depreciation on buildings : 5,000
Rent, rates and taxes 10,000
Electric power for machinery 15,000
Electric power for lighting 500
General expenses 15,000

Total _ 95,500
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Process 'I1' Account Output: 704 tons
Particulars Tons T Particulars Tons 3
To Transfer from 660 1,05,600 By Normal Wastage : 16 —
Process [ A/c 2% of 800 tons
To Raw Materials 140 28,000 By Sale of Scrap :
To Manufacturing 18,520 10% of 800 tons 80 8,000
Expenses @ T 100 tons
To General Expenses 7,240 | By Cost of 704| 1,51,360
Production ¢/d ,
800] 1,59,360 800] 1,59,360
To Cost of By Transfer to
Production b/d : Warehouse :
Cost per ton 704( 1,51,360 50% of 704 tons 352] 75,680
1,51,360 + 704 @ T 215 per ton
=215 By Transfer to
Process Il A/c :
50% of 704 tons 352| 75,680
@ T 215 per ton
704 1,51,360 704] 1,51,360
, Process I1I Account Output : 1,496 tons
Particulars Tons g Particulars Tons T
To Transfer from 352] 75,680|By Normal Wastage :
Process [[ A/c ' . 2% of 1,700 tons 34 —
To Raw Materials 1,348 1,07,840|By Sale of Scrap :
To Manufacturing 15,000 10% of 1,700 tons
Wages @ 20 per ton 170 3,400
To General Expenses 3,100 By Transfer to 1,496| 1,98,220
Finished Stock
Alc (BF)
1,700} 2,01,620 1,700 2,01,620

mmwm&mméﬂﬁmmmﬁwmmmﬁ

AT R

W SIS 1 S I SR B W @ 3 feran s @ 6 5w foka goa 9 watad
R TR Bfee W fran T 99 faska | AR 9 o i shEa @R # e F o
@R A ‘To Profit & Loss A/c’ fer@et @ €1 99 == a1 SeureA et sifswdl § o W

TR F 3 B

INlustration 6. FR@F sfaa@l | 94 2019 % fog Frefafaa T wa it ¥—

Fedl g 1 I9Hm
(Raw Material used 1,000 tons @ ¥ 200)

Process [
¥ 2,00,000

Process II

Process III
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Estimated Life.......... Years
Capacity...........

yfene e fafr /175

Capacity Utilisation...........
No. of Trips

...........

Per Units
4

Standing Charges :

Road License

Insurance

Garage Rent

Salaries of Manager and Office Clerks
Interest orr Capital Cost

Supervision Charges

Depreciation, Conductor and cleaner Salaries
(on Time Basis)

Total Standing Charges
Running Charges :
Petrol
Tyres
Repairs and Maintenance
Depreciation
Driver, Conductor and Cleaner Salaries

Total Cost

......

......

------

......

Hlustration 1 : T T & wwafem Fret woiai @ 70 g3 el Frciiiex 3 e

T iR
Cost of Vehicle
Road Licence (Annual)
Insurance (Annual)
Garage Rent (Annual)
Supervision Charges (Annual)
Driver’s Salary—Per hour
Cost of Petrol—Per litre
Repairs-Per km.
Tyres—Per km.
Estimated Life of Vehicle
Kms. run—Annual
Kms. run per litre

L4

50,000
1,500

1,500

2,400

3,600

6

16

3.20

2.60
1,00,000 kms.
25,000 kms.
10 kms.

IH T F A W 10% a4 @ 21 M Sitea 20 feardfiet ufa sver

=t &
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Solution : STATEMENT OF OPERATING COST
Total Cost. Per Km.

Standing Charges (Per Annum) X X
Road Licene 1,500
Insurance 1,500
Garage Rent 2,400
Supervision Charges 3,600
Interest 10% on ¥ 50,000 5,000

14,000 14,000 0.56
Standing Charges per km. —— 25.000
Running Charges :
Driver’s Salary 6/20 10.30
Petrol 16/10 1.60
Repairs 3.20
Tyres 2.60
Depreciation 50,000/1,00,000 '0.50
Total Cost Per Km. 8.76

- Tllustration 2 : T% S9! 1ooﬁsﬁoq<ma‘twﬁ%aﬁaa‘t3¥tmlﬁ%m@%
wﬁmﬁmsomaﬁﬁnmmﬁﬁmﬁmmmzow J gt

formn &—

Wages of Drivers, Conductors & Cleaners

Office Salaries

Diesel, Oil, etc.

Repairs and Maintenance
Taxation and Insurance
Depreciation

Interest and Other Charges

3
9,000
4,500

18,000
4,500
6,000

18,000

12,000

e FEe s A 80% & S | S WAT e aad 1 WE a9 A

W &1 & gFa IRife wmd g1 3 ward fereintier sma wia iRl

S_olntion :

Total Kms. run by each bus daily'= 100 % 2 = 200 Kms.
Total Kms. run by two buses daily =200x 2= 400 Kms.
Total Kms run during 30 days of the month = 400x 30 = 12,000 Kms.

80

Average No. of passengers carried = 50x 100 =40

Total Passengers-Kms = 12,000x 40 = 4,80,000
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Salary of Mechanics 2 x 1,250 2;500
- Garage Rent 3,000 39,750
Maintenance Expenses :
Replacement of Tyres 20,000
Stores Used 5,400
Workshop Overhead 12,200
Sundry Expenses 16,750
Lubricants ' 72,500 1,26,850
Variable Expenses :
Diesel 1,80,000
Depreciation 36,000 2,16,000
Total Cost 3,82,600
Cost Per Tonne-Km = 382,600 =¥ 0.91
4,20,000
lllustration 4 : 3 swa= 4 3 TW =t T & & 9E } T EFW @ W
sifvreral ¥ fFrefafaa Ryt Soaes —
1. Number of Taxis 10
2. Cost of each Taxi ¥ 75,000
3. Salary of Manager ¥3,000p.m.
4, Salary of Accountant ¥ 1,000 p.m.
5. Salary of Cleaner %400 p.m.
6. Salary of Mechanic ¥ 800 p.m.
7. Garage Rent T600p.m.
8. Insurance Premium _ 5%p.a.
9. Annual Road Tax ¥ 600 per taxi
10. Drivers Salary ¥ 800 p.m. per taxi
11. Annual Repairs T 4,200 per taxi

T Sl <1 e Sia ST 2,00,000 oo R1 Tk SRt @IS 3,000 oo T

e N STt @ Frde 30% 9 el S 21 33 w1 Eud 10 feotilo Wfy wiex 2T 16 T9d
wex {1 A qEw 7= =G 2 To W 10 Frotflo 21 T 2R A Wi fpeirie we % @r
I Ff :

Solution : STATEMENT OF OPERATING COST

Period—One Month No. of Taxis—10
Fixed Expenses : (Per month) T L4
Salary of Manager 3,000 :
Salary of Accountant 1,000
Salary of Drivers 800 x 10 8,000
Salary of Cleaner 400
Salary of Mechanic ' 800






http:mqftFr."'I::rrjP.::f(1r.rd
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Garage Rent 9,000 P.A.
Interest on Capital 12,000 P.A.
General Supervision Charges 9,000P.A.
Solution : Calculation of Passenger Kilometres
Pass. kms. = Buses % Trips X Distance x Capacity x Use x Days
10 Buses = 10x4x5x60x%x25= 2,25,000
5 Buses = 5x4x 5x40x%)x25; 75,000
Total Pass Kms, 2,25,000 + 75,000 = 3,00,000
STATEMENT OF OPERATING COST
Per month Per month
Standing Charges : L4 L4
Wages of Drivers 15x 1,000 15,000
Garage Rent 9,000+ 12 750
Interest on Capital 12,000+ 12 1,000
General Supervision 9,000+ 12 750 17,500
Running Charges :
Petrol, Oil, Grease, etc. 8,800
Repairs 4,500
Tyres, Tubes, etc. 3,800
Depreciation 90,000+ 12 7,500 24,600
Total Operating Cost 42,100
_ 42100 :
Cost per Passenger km. —m = ¥ 0.14 App. or 14 paise App.

luustratlons:qﬁmﬁvﬂémszﬂmaﬁ@w%mﬁﬁm

feraor et —

Cost of Truck

Estimated Life

Diesel, Oil, Grease

Repairs and Maintenance
Driver’s Wages

Cleaner’s Wages

Insurance

Tax .

General Supervision Charges

T
3,60,000

* 10 years .
75 per trip each day
2,700 per month -
1,500 per month
750 per month
4,800 per year
6,000 per year
10,800 per year

T T TR A Wi 11 AR A ¢ 9 T AR H 50 febho g g e 1 v
TR F ¢ G S G e H SR AR W 20% & F G B L
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19.

gR=rer e fafr /201
mmmmwﬁammmaﬁwmm%m
fret e € :

1. Fuel - 2,000 quintals @ X 12 per quintal is the quantity of coal consumed during
the month of April.
2. Oil 40 quintals @ T 750 per quintal.
3. Water 1,00,000 litres @ T 4 per 1,000 litres.
4. Cost of steam boiler ¥ 1,00,000 which has residual value of T 4,000. The life of
boiler is 10 years.
5. Salaries and wages for the boiler house - 30 men @ X200 p.m. and 30 women @
T 160 p.m.
6. Share of administration charges ¥ 2,100 p.m.
7. Sale of ash ¥ 600.
8. Generating plant cost ¥ 1,50,000, Depreciation @ 20% p.a.
9. Repairs and maintenance of steam boilers T 2,000.
10. Salaries and wages for generating plant :
15 skilled workers @ T 400 p.m.
25 unskilled women @ ¥ 120 p.m.
11. No. of units generated 2,00,000.
12. 10% of units generated were used by generating depaxhnent itself.
i fagr 6t s g S S i
(Answer : Cost per unit ¥ 0.45).

FHE gftenem e faf (Canteen Operating Costing Method)
e fafiee & warae st st 51 g §9 ¥ T T SN W e geesh
F FER W A WS @ FTE Fi
1. Purchases of the month of June 2019 :
Meat 50 Kg. @ ¥ 30 per kg.
Eggs 35 dozen @ T 10 per dozen.
Vegetables T 600
Bread etc T 800
Rice ¥ 1,200
2. Wages and Salaries - 4 cooks @ ¥ 400 p.m. each
2 Counter Clerks @ T 250 p.m. each
10 Helpers @ ¥ 100 p.m. each
1 Manager who is paid T 100 p.m. as allowance
. Consumable stores T 10,000 per year.
. Gas & electricity ¥ 400 p.m.
. Overheads allocated to the canteen ¥ 2,400 per year
6. Company subsidy T 4,000 per year
7. No. of meals served in the month 2,000.
(Answer : Cost per meal ¥ 438)

wn bW
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7. Hiarq AP fafa & SR W g yeraend frofe el s ) fofdl § e are w
foar =& *l

Hara o Tafa &t ara

(Assumptions of Marginal Costing)

e e fafs aftes % SFala Freiferd o A Jeld §—
1. 9 S AT S0 Wed FHH @ 2
2. IARA H TRAF WA W R A0 w9 99E @
3. Ot Tl W BT e Wi SR WHH el @)
4. a5 ) WA & Fael IAEH AR H N w2
5. SAfaftad IR R Fael yRadeier o sgdl 8
6. ST-uiadvie =5 R a1 sRadeia arl & fawifva fed o1 g &)
T AT T PR (Division of Total Cost)—Sta1 FU FAM™1 W1 ol € dara
T faft & el @ e o e fe s o fasfa S g 81 =ifE S
T S ST WA TEd) @ Safn FeR T 1 4 e e € 31: e Wi | @ s
1 ool T B Foret eleor A sega fRaT 1 weRa @—
Total Cost = Produced units x Variable Cost per unit + Fixed Cost
Hlustration 1. I aftal ¥ IUGT H99: 12,000 F 15,000 THEE! 1 3T 4 Hel
ICUIEH AT AW 2,56,000 3 T3,10,000 tl ¥ 3618 Hwra @ra qen 3|ty ) feat dva
d H
Solution :
Total cost = Producted units x Variable cost per unit + Fixed cost
2,56,000 = 12,000 V + F - (D
3,10,000 = 15,000 V + F -2
Subtracting equation (1) from equation (2)
54,000 = 3,000 ¥
y . 54,000
3,000
Substituting the value of ¥ in equation (1)
2,56,000 = 12,000 x 18 + F
F =2,56000— 2,16,000
F =T40,000
Marginal Cost per unit = ¥ 18
Fixed Cost of the period = ¥ 40,000
Illustration 2. 2018 I8 ¥ 5,000 Tl H T IRA A T 32 N 31 o 2019
a4 % 6,000 A H el SANEH AN hael T 31 Wi 3R off Fafh fer == H 10% 3fe
@ T ol 9fa S dimra A a9 o R 9 9 61
Solution :
Total Cost of 5,000 units = 5,000 x 32 = 1,60,000 in 2018
Total Cost of 6,000 units = 6,000 x 31 = 1,86,000 in 2019 _
Total Cost = Produced units x Variable Cost per units + Fixed Cost

=318
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In 2018 : 1,60,000 = 5,000 ¥+ F
In 2019 : 1,86,000=6,000 ¥ + 1.1 F
Multiplying equation (1) by 11 and (2) by 10 we find-
17,60,000 = 55,000 V+ 11 F
18,60,000 = 60,000 ¥+ 11 F
Subtracting equation (3) from equation (4) we find—
1,00,000 = 5,000 ¥V
V= 100,000 =¥ 20 per unit
, 5,000
Substituting the value of ¥ in equation (1)
1,60,000 = 5,000% 20+ F
1,60,000 = 1,00,000+ F
F =1,60,000- 1,00,000 = X 60,000
Marginal Cost per unit ¥ 20 and original Fixed Cost ¥ 60,000

Hiar= rTa fafr & 3r=ala & st Mo

(Calculation of profit Under Marginal Costing)

(1)
(2)

.(3)
(4).

79 fafer % orwia fasha e ¥ @ A= T A6 F WG AR HRTR SIVEH T B
1 firt sivem 3 Q sraft 9 feR AP SRR Y& 1Y 99 @ $1 3R srat % e @ o=
ﬁﬁﬁamﬁmeﬁéamwmmwﬁmm%wﬁmmmaﬁi

4 w1 =fe % g ¥ wive Tl Fwl
Income Statement (Under Marginal Costing)
: ' T

Sales
Less Marginal Cost :

Direct Materials

Direct Labour

Direct Experises

Variable Overheads

Contribution
Less Fixed cost
Profit e
Niustration 3. s f&fo % =1 foraww | diara wvma fafy o9 Y o FfsA—
Production/Sales 4,000 units
- 4

Direct Materials (Per Unit) 20
Direct Wages (Per Unit) 12
Direct Expenses (Per Unit) 10
Administration Expenses (Per Unit) 5
Selling Expenses (Per Unit) 15
Selling price (Per Unit) 90

FHEA a1 Fephg =99 20% giadasial € wefe s =5 i fer &)
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Solution :
Calculation of fixed expenses— T
Factory Expenses (10 x 4,000 x 80/100) =32,000
Administration Expenses (5 x 4,000) = 20,000
Selling Expenses (15 x 4,000 x 80/100) = 48,000
Fixed cost 1,00,000
Income Statement (Marginal Cost Technique)
Sales (4,000 x 90) k4 4
Less Marginal Cost : 3,60,000
Direct Materials (20 x 4,000) 80,000
Direct Wages (12  4,000) 48,000
Variable Factory Exp. (2 x 4,000) 8,000
Variable Selling Exp. (3 x 4,000) 12,000/ 1,48,000
Contribution 2,12,000
Less Fixed Cost 1,00,000
Profit 1,12,000
aryiwoT wrve - fafe
| (Absorption Costing)
' 39 Y& @ ol wra-afy (Total Cost Method) % 7 & #t W &) 39 fafu &
Sl S B QA G F sier o1 Hehal —

1. Fmior T (Manufacturing Cost)-389 S8 el S0, Noied A9 @07, Wded
I =Y 49 HRER F TPl = (Radie au R srar =g ) wie s F
3 fafa & fafda W &1 wRfos w2 fe qur s =is FREH ara W qeiiha R s
Feal 21 rafy = famsl & 9 99 T "6t B FR@FT AR (Opening Stock + Manufacturing
Cost-Closing Stock) SZT Tahel & d HQ €
. 2. 3= WA (Other Cost)—5aN NG el FHraierd =ag au1 fash! w6 faawun =y

mﬁaa@;lﬁmﬁwﬁﬁﬂﬁﬁlmmﬁﬁwmwﬁwmm
e < 21 ’ :

74 fufy A FRER ¥ for o %1 $9 9 ©is F qou A Wit & w1 o 3w
fafer gr1 9 6 T o e W s Tafl Q@ 91 feg T e ¥ o Tear @) i gl
IeareA T W 91 AR ©ie wd tfw =i 7 2 ot < fafedll = v e wm e @
B forg ik I Thee e € @ FoeR FREFT 594 &1 $9 9 ©i & e § Wit
A & BT gVt T faft § w9 e o stk 3 IRty e« wen s @
@ T 9 F R F@H 9 F FF 911 59 T4 T G W B F w1 e fafe
q ™ FH I

Hiustration 4. f1=1 fatwr § (31) St ava-fafy e (9) e awa-fafa @

o Sl T FHfE—

Production 1,000 units
Sales 900 Units @ T 25 per unit
Variable Manufacturing Cost ¥ 8,000

Fixed Manufacturing Cost T5,000
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Variable Selling Cost ¥ 1,800
Fixed Selling Cost 2,000
Solution :
(a) Marginal Cost Technique
Variable Manufacturing Cost per unit = 8000 _ 8-
1000
Income Statement L4 T
Sales 900 units @ T 25 22,500
Less Marginal Cost :
Manufacturing Cost (900 x 8) 7,200
Selling Cost 1,800 9,000
Contribution 13,500
Less Fixed Cost :
Manufacturing 5,000
Selling Cost Profit 2,000 7,000
6,500
(b) Absorption Costing Profit Technique
Income Statement L4 T
Sales 900 Units @ ¥ 25 22,500
Manufacturing Cost of 1,000 units : '
Variable 8,000
Fixed 5,000
Work Cost 13,000
Less Closing Stock of 100 units @ ¥ 13 1,300
Cost of 900 units sold 11,700
) Gross Profit 10,800
Less Selling Cost :
Fixed - 2,000
Variable 1,800 3,800
Profit 7,000

Profit is higher by ¥ 500 according to absorption cost technique because fixed cost of

4 8,000 x 100=Y 800 is included in closing stock.

Mustration 5. vﬁ%aﬁs‘mﬁ TR AN THf a9 i e YSha § AY

feeror daR FfA—

Production

Sales 5,000 units @ ¥ 12 per unit

Variable Manufacturing Costs ¥ 6 per unit

Fixed Manufacturing Costs ¥ 14,300

Selling Expenses T 6,500 of which ¥ 2,000 are variable.

5,500 units
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Solution :,
Absorption Costing Method (Income Statement)
£ 4 4
Sales 5,000 units @ T 12 © 60,000
Less Cost of Goods Sold :
Variable Cost of 5,500 units @ 6 33,000
Fixed Cost of 5,500 units 14,300
Total Cost of 5,500 units 47,300
Less Closing Stock : 500 units @ ¥ 8.60 4300 43,000
Gross Profit 17,000
Less Selling Expenses 6,500
Net Profit 10,500
Marginal Costing Method (Income Statement)
T T
Sales 5,000 units @ ¥ 12 ' 60,000
Less Marginal Cost :
Manufacturing (6 x 5,000) S 30,000
Selling 2,000 32,000
‘Contribution 28,000
Less Fixed Cost : _ '
Manufacturing 14,300
Selling (6,500 ~2,000) . 4,500 18,800
Profit 9,200

This Profit under absorption costing is 10,500 — 9,200 = ? 1,300 is more because

14—’350%:-05&) =T1,300 of the fixed manufacturing cost is included in the valuation of

closing stock.

Hlustration 6. 574 WA fifo T TG 1 Frior et 31 forwadt ol Forst wahm #—

Variable Manufacturing Cost T 10 per unit
Fixed Manufacturing Cost ' 50,000
Sale Price T 16 per unit
Year 2018 2019
Production 20,000 units 20,000 units
Sales 18,000 units 21,000 units

FAMY A S aon W ar IS ¥ A faen an St aw oy d e
& HY WL FR

Solution :
Income Statement (Under Absorption Costing Method)
2018 2019
_ ® 89)
Sales (18,000 x 16) & (21,000 x 16) 2,88,000 3,36,000

Less Cost of Goods Sold :
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8. srefqul ya=grat RAFET (Meaningful Managerial Reporting)—4iHI=1 & &
IR W Yo=Y &) Foi2 € et @ Fored e wgm & o3 frld 1 e ardes B &1 e &
e T R Haifas o € 91 & 98 M A % 38R W e o Ry a5t 9wy €

Hwra e fafa &t diwt

(Limitations of Marginal Cost)
L0H wﬁw; T e BN IR T T TO HHa 0 A §1 drara fafa ¥ o

1. v forerr ® wfed (Difficulty in Division of Cost)-Sar~ @iFm fafy & get
T o SfEd R T ae R | ¥ ae §a 21 98 ®d W 1 8 W@ e W
iﬂﬁﬁ%ﬁgﬁwﬁa (Semi-Variable) B & I sie T Ifew wd 21 3HF) FE gAY

|

2, ArgaTd Wea |t T (Assumption are not Always Correct)— HHI=I & YR &
Tg | S R i 3o wited el o R ted @ fe A WTE % SER WO
et 1 ferg wREdaeiier o wee Seate 41 skt & e W sTraifes aftafia e Bt @
a9 R e §9E ¥ SR W H9-w+ sitafia et &

3. geft saaarat & ford Sugas & (Not Suitable for all Business)—iar @wmd fafa
&1 W 9 SFEaEl ¥ T R 1 wan 9™ @ (Job Costing) A€ 3T T
(Contract Costing) ¥ 39 fafey &1 @ &1 fepan =1 weham!

4.11wﬁrafwr313¢gaa (Price Fixing not Appropriate)—¥IHId & & HAER T
Sfaftr = 1 geq Sgar TRWEE 964 (Dumping Price) 9 fraifta fohar w1 geva 21 3aaea
1 T g o) #8 ged fed el | s 3 S @ e S i W e
faeifta fepan <mar R

5. \TA fr=oT ¥ SA%E (Failure in Cost Control)—39 T&fd & @FE T quf freor
qg T g 39& ga o yHY ar fafa qw seedt s fafh it oes weR @
forisror & aret 21

6. T geaie w7 (Stock Valuation not Correct)—3d faft & Faa fofg &7 &
& e fuerdl 1 Wi w1 Y YRadAvie A % 3MUR W &A1 7 A ofd gfe @
3faa W war @ o T s ) g ¥ 9@ wm feio @

o smTe faftr wen yerwe Frota

{Marginal Costing and Managerial Decisions)

 wergerg el ¥ dum ana e s osEm sl Teeel @1 adae weg o
sfasin frofa T o fafs & amaR W fad wm #1 ARk fRf fofa @ sivem
(Contribution) ¥ gfg Bt @ & 3Q iR fobar s @ ot afe siveH o et &t @ 1 3Q
areefter Y fean srar @ ifen g arra ol amar & A o9& for el @ ora: sfveH o
ofg Q o A gfig At &1 Srevaeln Yeramg fofdi ¥ 98 vafa S enavas s T ) f=
& ¥ W o fafa & SR W fofg ol e m d—

1. FFar @& AT (Increase in Level of Activity)—sw -t frofa st e @
Ieared T 1 faar o s v ) T Fofa o e @ fafe sga swan fag @k
1 3fe b W F faan Q 3 SvRH W 3fg At € o farar i Frofa feran smam ok afk
o & At ATl SR FH X F THE A A fawr w1 Fofa 1€ e s af
fowR @ fer v ¥ gfg ) aonE €@ @ vs o ® gfs e s
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Ilustration 7. T ¥t Grae W foar 2 W@ 21 fer & 242,000 2 5t 2
12,500 9 9% ST, o GrE YU 8 TR A ScqEH &Ha T 8,000 SEAl Siiad & 5
A A 50% 99 S| adTeie @@ 2 7.50 3R e 2 ok W w 2 0,50 wf

T FH B S fasea qea T 16 3 s @ < wRafda @ € o geds e s
fed?
Solution : Present Profitability Statement
(Production and Sales—8,000 units) T
. 1,28,000
66,000
68,000

42,000

26,000

Sales (8,000 x 16)
Less Variable Cost (8,000 x 7.50)
Contribution

Less Fixed Cost
Profit
Profitability Statement (After Expansion)
(Production and Sales 8,000 + 4,000 = 12,000 units) 3
‘Sales (12,000 x 16) 1,92,000

Less Variable Cost (12,000 x 7.00) 84,000
4,08,000

54,500

Profit 53,500

Decision—The profit will increase from ¥ 26,000 to T 53,500 after expansion. Hence,
expansion should be carried out.

2. fimar @ wafem @ (Best level of Activity)-Sa€l =+l 39 g o ot faofy o
B @ foF SeureT 1 W w1 T iR @ a9 Afasan @1 S-S 3T W afg e @
A3-42 kg gea 9 e o &1 Wora A faf 39 frofa 3 o s 9 aee w1 2
IIEA T4 I IGH] ATING SN el ek W STTH (Marginal Revenue) @91 SH @ a
TR 7 & A 39 Foufd w o stftean g R

Illustration 8. 9% H¥ F aHal Wfq A& 10,000 IHEA I F # 21 fawa
foam &1 fdd fafa= @l W fopa oo F1 7R wefifa & 3—

Contribution
Less Fixed Cost (42,000 + 12,500)

Use of capacity Selling price per unit
T
60% 25
70% 23
80% 2
90% 20
100% 18

Tt TR W Fmtor Y oftad=site @ 2 12 9fa 56 aan e @nm 2 50,000 1 9@
A 21 ST & ol &R W SRAM 9/ w2

Solution : Profitability Statement at Various Levels
|Level of Activity 60% 70% .80% 90% 100%
Units Sold 6,000 7,000 8,000 9,000 10,000
Selling Price T25 323 322 320 T18




214 / wTR faverwor wE Fra=mor

3 3 3 3 R
Sales 1,50,000f 1,61,000] 1,76,000 1,80,000;  1,80,000
Less Variable Cost 72,000 84,000 96,000  1,08,000 1,20,000
Contribution 78,000 77,000 80,000 72,000 60,000
Less Fixed Cost 50,000 50,000 50,000 50,000 50,000
Profit 28,000 27,000 30,000 22,000 10,000

Decision—Maximum profit T 30,000 per month can be earned by running the factory
at 80% level of activity.

3. W& ITE A1 femr #t ® %W (Dropping a Product or a Department)—34fg
FREA A FE fHam A e FE THR H TG F IAEA @ WA @ I FH-FNGE
foram wtar @ 6 fordll g &1 ST o H& AT W o Higd ST SFad e stger T
i a fafe 3 foig 3 g o g wer w31 599 fae v 9t fawel ) sem
W AW F ORI, R g fann S 9 w0 gefaa @ @ ToE S s ai
Wzﬁmﬂmaﬁﬁmaﬁﬁmﬁmﬁvﬁmmmmwmmm
ITH @M

Ilustration 9. 3frsan Newe fio F & fovm ¥, Wl 7eT g 1 IR Ll B
T ¥ ¥ W Fre Yer §—

Departments
A B C
. L4 L4 X
Sales 80,000 40,000 60,000
Marginal Cost :
Direct Materials 10,000 5,000 10,000
Direct Labour 4,000 5,000 16,000
Variable Overheads 10,000 5,000 20,000
Fixed Cost is T 50,000

@ fawm w1 S IR wre fafa 21 Saafka 9 F1 ¢ Fiem T € sk
THF WM R I 96 T 1 o Gohell| Tl A et B T 9 @) vl e #)
iy e ol et TR §—

H T 14,000 ¥ 2 8,000; ¥ T 16,000

A9 for o 9 el @ gfed &) w9 faem ) s S sfad dm

Solution : Income Statement (If Three Departments Continue)
Dept. Sales Marginal | Contribution| Separate Profit(+)
Cost Fixed Cost | or Loss (-)
T T T T T

A 80,000 24,000 56,000 14,000 +42,000
B 40,000 15,000 25,000 8,000 +17,000

C 60,000 46,000 __14,000 16,000 —2,000
Total 1,80,000 85,000 95,000 38,000 +57,000

Less Common Fixed Cost (50,0600-38000) 12,000

" Profit 45,000
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Income Statement (If C Dept. is closed)

Dept. Sales Marginal | Contribution | Separate Profit (+)
Cost Fixed Cost | or Less (-)
(4 T (4 (4 (4
A 80,000 24,000 56,000 14,000 +42,000
B 40,000 15,000 25,000 8,000 +17,000
1,20,000 39,000 81,000 22,000 +59,000
Less Common Fixed Cost (50,000-38,000) - 12,000
Profit 47,000

Conclusion— The profit will increase by 47,000 — 45,000 =%. 2,000 if C department is
closed. Hence it is better to close the department C.
Hlustration 10. T F¥9 1 i Feqd x, y 91 z 1 1 €A el &1 T T a5
1 IR I8 FE I A F IAEA | S Higd F1 9ed 21 300 377 QA F IARA
50% wg Wt AW B Fre1 TEE F AR W waq5d fFw o 1 I 4= v o
' X Y

Z
Production (units) 4,000 8,000 10,000
T T T
Material per unit . 25 15 30
Wages per unit 8 7.50 10
Variable Overheads per unit 4 3 4
Fixed Overheads per unit 8 4.50 6
Total Cost .45 30 50
Selling Price per unit 60 40 62.50
Profit per Unit 15 10 12.50
Solution :
Calculation of Fixed Cost of the Company
X 4,000x8= ¥ 32,000
Y 8,000x4.50= ¥ 36,000
Z 10,000x6= % 60,000
Giai 1,228,000
X Y Z
L4 ' 4 {4
Selling Price 60.00 40.00 62.50
Less Marginal Cost 37.00 25.50 44.00
Contribution p.u. 23.00 14.50 18.50
Profitability Statement (If all Three Continues)
Contribution on X 4,000 x 23 = 92,000
Contribution on Y 8,000 x 14.50 = ' 1,16,000
Contribution on Z 10,000 x 18.50 = 1,85,000
Total Contribution 3,93,0000
Less Fixed Cost 1,28,000

Profit 2,65,000
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Profitability Statement (If X is Discontinued)

Contribution on Y 12,000 x 14.50 = 1,74,000
Contribution on Z 15,000 x 18.50 = 2,77,500

Total Contribution 4,51,500
Less Fixed Cost . 1,28,000

Profit 3,23,500
_ Profitability Statement (If Y is Discontinued)

Contribution on X 6,000 x 23 = 1,38,000
Contribution on Z 15,000 x 18.50 = 2,77,500

: Total Contribution 4,51,500
Less Fixed Cost 1,28,000

Profit 2,87,500

Profitability Statement (If Z is Discontinued) ‘
Contribution on X 6,000 x 23 = 1,38,000

Contribution on Y 12,000 x 14,50 = 1,74,000
Total Contribution 3,12,000
Less Fixed Cost . . _ 1,28,000

Profit 1,84,000

Decision—X should be discontinued. There will be maximum profit of ¥ 3,23,500 if X
is discontinued.

4. Iaare frsvor frafror (Determination of Product Mix)—U& IdQah - %3 aﬁaif
1 IR FA ¢ F TN 9¢ GUE SO et & 6 aw =t wgell 1 fea-Rea
Seare e, et e e Seafed ot aegell ¥ A JIoR v # e S gfremd
Hifia € < et <t Scare A AW R o wehdt 1) W o fafe ¥ SRR S s
IWEA I T e i Feafa 2w st wan Siftrohaw e 3 fastor 61 SRR %A w1 fofg
forar smam

Iiustration 11, A A Tgad M IR AFE Twore I Iucion E—

X Y
Selling Price per unit 50 40
Direct Material per unit T16 T12
Direct Wages per unit 12 X8

Variable Overbead 150% of Direct Wages
Fixed Overheads T 15,000.
Jerfeah I faso1 (Alternative Product Mixes);
(i) 2,500 units of X and 2,500 units of Y
(ii) 4,000 units of Y only
(iii) 4,000 units of X and 1,000 units of Y .
() IF Tvg F WA AP a4 Wia FHE FHIEH H T S
(%) ¥1-Q 3@ Mo 1 e fawfw F:60
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A B C Total
? 4 2 ?
Fixed Overheads 25,000 37,500 50,000 1,12,500
Direct Material 90,000 60,000 45,000 1,95,000
Direct Labour 30,000 20,000 15,000 65,000
Variable Overheads " 30,000 20,000 15,000 65,000
2,50,000 1,50,000 1,00,000 5,00,000
Profit or Loss +75,000 +12,500 ~25,000 +62,500

Ans. Present Profit =¥ 62,500 (as given); Total profit when department ‘C’ is closed
= ¥37,500.

Conclusion : Department ‘C’ should not be closed because it will decrease the profit
of company by ¥ 25,000. Therefore, all the departments of company should be
maintained. .

8. WHFHARX,Y 3R Z W RN 9 e A 1 TR & T (o) R w@en sk
W, b 3 31 faemm grams # 54m o ) Wieell ¥ I 50 W wgn A
FQ H G &) Frefafeas gEmell ¥ e SR F o B a1 @it TN Al s9R
Hiemel & wallas wnR w4 ¥ wEd ¥ g o e —

X Y z

IS (FHIEET) Production (units) 4,000 8,000 10,000
: ' T T z

amsft (Material) 50 30 60
TGl (Wages) 16 15 ; 20
vftadweite IS (Variable overheads) 8 6 8
feer 3URer3 (Fixed Overheads) 16 9 12
. 90 60 100
fisha e wfa $@1$ (Selling Price per unit) 120 80 125
Wt geT§ @M (Profit per unit) 30 20 25

Ans. Present profit = ¥ 5,30,000; Profit if ‘X’ is discontinued ¥ 6,47,000: Profit if ‘Y’
is discontinued ¥ 5,75,000; Profit if ‘Z’ is discontinued ¥ 3,68,000. Hence, the
production of ‘x’ should be discontinued.

. IS Q@R TH & I, STE F9 & ge et 5] e | 39 R W faEr
T w0 F e Fe v 2, N e & sk Weeae ZR gd B T ¢ sk oo 7
T i T i R q A Q) el S | fahd W R 21 wifew wfE
39 Foshd e ST AT A #9 €1 fosed Werud o I 39 W —

wir garé Per unit
[qllG)

cost
X® e
wit (Materials) 50 50

R =99 (Fixed Expenses) 20 15
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= ¥ 26,000
Variable Cost Per unit = Material + Direct Labour + Variable Overhead

= 4,00+ 200+ [2x%) = 3.00) =%9.00

20. G et s Frafolt Rt fafirds o1 aifdis scare 90,000 Teal 41 staaa &1 @
341 e yaR 2— .

w5y

(Per Unit)

W (Materials) : ¥270
#m (25% &) [(Labour (25% Fixed)] T 180
I (Overheads) : B -
yfEdeite  (Variable) 790

fert (Fixed) 7135

T (Total) X675

() 9 To9FH I T A Q e a fwa, s FEgg BT 540 |y 2| w5

TR 1@ 1 RN G B BT WY SR IERT B G H A qMEY?

(%) TE ¥ BT & v Saga & Fmin ¥ sgea ol &1 @ o TR g S F

i fapar o @, forads iy ReRg qew T 485 &) U Rufa A, smolt @1 9 T 200 W
" TR BT T # 90,000 THERA F1 WA I o T IYRSHT F AR W fF o

W ¢ N I Al § Rreargds Tawe fE T 9 F Saka ¥ g o @

TYEGE §N, ¥ T & 1 adam § Fiffa sava B 7w SR Q € a@den )

Ans. (a) If the component is purchased from the outside supplier, the company will
have to pay ¥ 45 per unit more and on 90,000 units the company will have to spend ¥
40,50,000 more. Therefore, the company should not stop the production of the
component. '

(b) If the company diverts its resources for the production of another new product, it
will benefit by ¥ 60— ¥ 45 i.e., T 15 per unit.On 90,000 units the company will save ¥
13,50,000. Therefore, it is advisable to divert the resources to manufacture the new
product and the component presently being produced should be purchased from the
market,

21. 9 e fafire arfee & oRw TR fiffa w1 o dom 845 =t wft g
T et e 8—
- Wit (Materials) ¥3.00
59 (25% ) [(Labour (25% Fixed)] 22,00
9T (Overheads) : T1.00
gfiEdayiiet (Variable) . T 1.50
R (Fixed)

41T (Total) 77.50

& 915 W g T i e R o ae I v 9 2 63w e [ g

T ¢, forew @ PR F TRUA }| FdUH ST TE IR 50,000 TR

Wt o 1 TN AT I T H T IR ) TR F I w2 70 9w W

B If U2 WE 845 ¥ fog Hifed 9ite WE @R @) U 6 TE 599 & gy fRa

wimmu.zs 1 g Yt firm v ¢, weEt @ g WK EN #
2
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Ans. (i) Make the part as there will be saving of ¥ 25,000 and (ii) Purchase the part as
there will be saving of ¥ 62,500, '

22. TFE qF1 R <) 994 Tl 37 Sagal ¥ A @ F 91 H 3K g ) @l w1 famn @
e faero Fe sy §— ’

X Y
g (Materials) : ¥ 7,50,000 ¥ 3,00,000
21 (Labour) <4,20,000 ¥ 5,00,000
yftad=viia Iufi&d (Variable Overheads) ¥ 3,30,000 ¥ 4,00,000
fex 3uftema (Fixed Overheads) % 6,00,000 7 6,00,000
IR (Output) 12,000 Units 25,000 Units
i $%1 %4 e (Purchase Price per unit) T175 T 64
3fd §K WA WA (Machine time per unit) 30 Minutes 12 minutes
wfd 391§ 9EeR (Materials per unit) 800 gm. 200 gm.

s s S B B wtie T sk fed Bt fre T, wR—
(). ¢ g& FR& T 9, (i) I e FRE T 9, (jii) T 9 T SRS €
Ans. (i) Savings per unit: X ¥ 50 and Y ¥ 16, Make ‘X’ and Buy ‘Y’ (ii) Savings per
kg. of material : X ¥ 62.50 and Y ¥ 80, Make ‘Y’ and Buy ‘X’; (iii) Savings per
machine hour : ‘X’ ¥ 100 and ‘Y’ ¥ 80, make ‘X’ and Buy ‘Y’.

AHcTcH fama-fsor (Optimum Sales-mix)

23, 3o HRo fAfRg @7 oy 31, 9 ok T o= Ul o <A a1 St @) 14 A @
el A & AR T S @i 3 Frafafaa ged a§ 2018-19 % foe swga #t

Product Selling Price Variable Cost Possible Sales Mixes
per unit (3) per unit ) MixI(®) Mix II (3)
A 30 12 6,00,000 3,00,000
B 40 20 © 3,00,000 2,00,000
C 25 15 1,00,000 5,00,000

2018-19 ¥ Fa TR T T 2,64,000 AqAFE B RR9 defeas fasma-faso /) o
T ?
Ans. Total Profit -Mix I ¥ 2,86,000 and Mix II ¥ 2,16,000. Adoption of Salcs
Mix I would be profitable.

00
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(i) TTH-HTAT AT
: (Profit-Volume Ratio or P/V Ratio)
SYEH 1 foshd o & Y S ST Bl ], S @ A=A e wwd ¥) I
M@ A9-IE S F W W SEH fasFa ST’ (Contribution/Sales Ratio) &l
Afereh Iyga BN TG 3 Wwd & &9 Y oge R o @1 e ¥, T8 9a S F
fore sivem =t wm A fasea &1 9 29T 100 Y TN F  § oW g B o1 e

T IFH WA g P A A Rl e P T a wa €
@ P/V Ratio = Sx100 or CP 100 or S"Vxloo or SE-VP
S SP S SP

100

Where : C = Total Contribution
S = Total Sales in Rs.
CP = Contribution per Unit
SP = Selling Price per Unit
V = Total Variable Cost
VP = \_/ariable' Cost per Unit
(ii) P/V Ratio = £x¢4 C;’s; * Profit L 100 or f;_leoo
ales .
afy St fie srafirat #t famt war o @t afin & gl W @S- o T
= % fog Preafafas g o @ w—
Prv Raﬁo=_—ChangemProﬁtx
Change in Sales A
Fet-eft &) =1 sraferd o fa a1 et o R € et 2, ¥R g N wAE srafa =
A I HA ¥ Tafh i fopha TR F § I srafy it Fo AT A R w2 e e @1

gfy e aar gegr-dmr AT afr A g At

P/V Ratio =—— 270 100 or ~L-x100
Margin of Safety MS

ATY-HIAT ST ! Feal ¥ 3iveH, T, fer W@ aRadAeier anml S a8 9w
forar s waar 1 39 ww ¥ Frefafe g9 oF @ A € _

(i) Contribution = Sales x P/V Ratio

or C = S x P/V Ratio

(ii) Variable Cost = Sales x (100 —% of P/V Ratio)

(iii) Fixed Cost = (Sales in Rs. x P/V Ratio) — Profit

(iv) Profit = (Sales x P/V Ratio) —Fixed Cost '

Frdre—aq-HE S @ SRadeie o 1 faska 3 A wRiea e el 2
A fopalt & o T s B 100 A Y H2H W S AN I € 98 TR 9 0 Fasha g
w1 v 2 31 SerRond—afe P/V Ratio 20% < 7® HF <M £ aRerdreiter @
fasmt F 100 — 20 = 80% ¥ a9 AT I8 Fe1 WA f IRadTEiA o fashl &1 60% T
am—q?:ﬂgma100—60=40%m|11émff,3@ﬂmaaﬁqa%5wffﬁmaqaaaMW
H&dl & : i

100

P/V Ratio = 100 — % of Variable Cost to Sales
% of Variable Cost to Sales = 100 - % of P/V Ratio
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wEmfaa o stfafta sua =t gfet ¥ qifow, fama afir J@ wEr—o03) & siferm
e gfd o featt sthiftam fora of 9} savasar @, a8 SRl wema & fog s
TEeqel @ FF 98 SRt 89 F uee @ = ¥ afs 5 el @1 slw w1 g
fmm?m—mmﬁm%aﬁﬁaﬁﬁmmmqﬂ%mmaﬁ
1wt
Proposed or Increased Expenditure

P/V Ratio

E-IATE FAl % AT GgaT STI-HET 9@ FET (Combied P/V Ratio for
Multi-product Firms)—agd & INES T § i F&R &) T8geil o1 IQET %@ ¢, Let
FH W) ‘ag-Feare EH' e w41 6w oreeh et aegel & forg wged w-wen S
T FC e &1 YR AV-HA ST I FEA F AR Frfaiaa @

1. mmﬁm%mﬁ@%mm—wm—wmm
o s

2. Wdw weg H fahl & w9t Sgel #t T T & g wiiwa 9w wn

3. o1 W, W g ¥ Y- ST a fonRa i it sow ¥ o w9 ek g
mmmﬁméﬁlwzﬂnﬁ Combined a1 Overall P/V Ratio %geam

wm-foredT farg

(Break-Even Point)

et smamm ¥ e " R Fa fosnt it afe =t 7 SR el @ 9 A ¥ SR A
2, 7% wu- T farg reenal €1 30 WH W S0TOR F 51 Y o1 2 § SR T R w de &1
T vl N, fosnl i o 9 e W oaaE ¥ 9 W o @ Sk 9 ol @), w-faedy
farg, wgam &1 58 AW fag (No Profit Point) Wt #8d &1 w0 farg W 3ivem =1 9m
=g ¥ foa sl & e o #1 9t 39w Q A fan A € @ syawm N @ e,
afz 58 TR Q f I A & A =g A o i A o SNeR W -
fag 1 Fraito e A fran w1 w81

AT G T G ATTH o S & i faseey = et e + wRad=eter smran

T
A SV H YT WAl = & awrE gt § |t 39 Ry au-faede firg @t
feafer wga §i _
T o SR, ' w-farede g fwareiterar ( fasea wrar ) @ o faeg oel et

AT Q@ HH AT GO H, q€ T A a faeg g dy

o %o JHIE & ,‘W_ﬁiézﬁzﬁaﬁﬁazmﬁlmwamm%
# 7 wift O R, @ 3 e weR T )

¥o o TrgeT & IR, “wH-fawd forg, A 1 9% forg B @ fom W a1 ik
A AR A 7

forerC e BRI & S, ¢ PRt ameft o st et et s @ e e fivg
famra aa &7 o W & < i et frat sit witad=siier et & s e’ .

Iuga uftarred Q T § fo6, “qu-fasde famg <A S #t o fag dar € el
R T AT G Frel ST SRR B € a1 A v gty &) feafa e wet @1 5w @ R
WW% ﬁwmﬂaﬁaﬁﬁ?ﬁ%aﬁw—ﬁﬁaﬁzﬁmmﬁwwaﬁm
B

Additional Sales in Rs. =
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or SP.Q-VP.Q=F
or ‘Q(SP-VP)=F
= sp_vp
B.E.P. (in Units).= : . Fn'(ed Cos.t
Selling Price per Unit — Variable Cost per Unit
F F
or or ——
SP- VP Cp

e § b wn-faedg farg el o ot 9 v 1 S @ S wfd 3 fonha g

(SP) qe ¥ $R IR AP (VP) i TH6R1 € g ) o1ga 31 I 1 s gl
=+ "erFar ¥ 9 fba o Tkl @ Al TRl ¥ wn-foedyg famg W e W g

o o w-fede g (B.E.P. in Value)—T81 W Ted @ -fosma wqai A 21 vy

T -t fag T e @ e w-fasd fag wean @) wu-faedg fag @

Toh1gdl ot Afg wfd 3T foska-qe | o R S @ e e @ g’ W au-fa=ae fag’ e

SR e
B.E.P. (in Rs.) = BEP in Units x Selling Price per Unit
Iqdad G B U N UES THR) B 9-faed farg T T B wifehw W @ wedy
w-faedT forg 1 F13 & e e gaiell @ =99 § @ g Fefafad ¥ @ 9 o @

& A
FxSP - FxS F

a0
SP-VP S-V P/V Ratio

B.EP. (inRs.) =

Where:  F = Fixed Cost
SP = Selling Price Per Unit
VP = Variable Cost Per Unit
S = Total Sales in Rs.
V = Total Vanable Cost in Rs.
P/V Ratio = Profit Volume Ratio
W SV Afaea (Contribution Percentage)—318iq

TY-TTA I (Profit — Volume Ratio) 1@ &
B.EP Fixed Costs

~ Contribution Percentage or P/ V Ratio
When, P/V Ratio = Total Sales Revenue — Total Variable Costs %100
: Total Sales Revenue
gu-fa=az farg ol arwen & wfiera & w9 H—w9-fa=eg fag o1 qoi ewan & wfowa &
w9 ¥ ot = fe W ) S90S A e g @ A R St @—

Break-Even Point as a percentage of full capacity (or Capacity B.E.P.)
Break - Even Sales Volume 100

- Full (or Normal) Capacity Sales Volume
Break - Even Sales (in %) %100
Actual Sales

Break-Even Ratio =
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wWgwa uo-faedg firg (Combined B.E.P.)—<gd ¥ SWIGH 3THeh FhR &1 aegall &1
I B ¢, I 9% R oqawd Ft gt aeged F o vy wn-faee fag I SO
wed €1 Xeh T A ved WG H-A YW T T €l €, qgId Frfeiad 99 %
B Ffes wn-fasde fog o =T foran 9T @ - ,

Combined B.E.P. in Z = Fixed Expenses for all Products l.e.. for whole Business

. Overall P/ V Ratio
w-faedy fasg & 3= W (Other Types of B.E.P.)—3wdad aftfa wu-fa=dg fag
Y ¢ §a-f4e8e fag (Profit-Loss Break-Even Point) gl © i 39 wn-fasde
fag W A @ 9 9 B R R T P o O} TS Hfafiam wn-faede fag %
freffan Q) w9 ot ot §—

(A) Ureng (T ) W-faedg frg (Cash Break-Even Point)—4% StIg/fshd %1 98
fag ¥ & i fret wvan =) Jovg wifeal oo g W R T A 9w N U TR %
T o &1 3 fr o v € ¥ i s o 9t o Al ¥ 59 = O wie an ¥
e axga: Ve ¥ gram 4 fra san @, SR-79) 5 i o 0 e o 9§
o2 N-wrm wg B9 & FRo qafy fer arel ¥ wie @ s /g T dee A
T R S & SR 0T g S feRval ST SR See 98 W @) R e s €
fir 3 et Vopg N A F I 9l fer anmdl & € &= ¥ T 9 @ an-faseg fag
1 A T IRV Fi g ¥ Vs wH-fa=dE, farg it Tor @ Wi B ww ? e Awe
-fa=de fag 1 oM ¥ e I W W faEw fear wran @ R Ueg wem g 1

TR T % foe smfefad T w1 WA fE e d—
Cash fixed Cost + Loan Instalment

Cash B.E.P. (Units) = 0% !
Contribution Per Unit
| +
Cash B.E.P. (Rs.) = (C2sh fixed Cost + Loan Instalment) x SP
Contribution Per Unit
OR
_ (Cash fixed Cost + Loan Instalment)

P/ V Ratio
(B) wmTa wW-faede fag (Cost Break-Even Point)—=ga@r ¥ &wi-&vl
wfifeafiEl = Bt & Rl @ W aifs defers wE #) 6 @M 9O € € W
I e s wE aftadRie arm fa-i e @ U Reafy ¥ v g s et @ e
I fashel o A fopd fyeheT Y 1 I $9 OHET 1 g6 W A  oIY Ie T faska
1 & o &R Frffta fmar sman § frg at 1 fareredi &1 9 T T 81 U@ "R $ W0
frefefad G 9 W8Ed A WAAgd® H 51 GHd 8—

Sales level at which Profit of both the alternatives will be equal
_ Difference in Fixed Cost

_ " Difference in VC per Unit
IEF 3 % g Freifta scare @@ o w3 feafy A et o fasre Y svomn
N el 81 9O AR SeE T fag o arafas WX S9gE Feifa ) QA o 9 @
FOTEAT § W 39 fomhed Y o aifee foraan fd s aRedeie | %9 € 59 fawda
Ife e Td Foera wR ST Fraift @R A 59 8 okl Gt @ A 39 Rhed )
w1 foert foe @ &9 2
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(iv) FrEm-wtar

(Margin of Safety or M.S.)

T 9a € fF aw-famde forg WA @ A o S @ ok A @ 9 wf o 21 o
TH-foreag fog @ oM 957 W agiq au-fass g | arcafaes fosn aifte 89 W & 3wwn
¥ fo guan = feafar oo €t 1 o S arafaes fosn wm-fared forg R foee) st
it sHaEE F1 fefa sa € g W i am: aRafae fanl = 9r-faede fag w
fgr € Feen-dmr wEa 2

wred &, g & sun ' awdie ar arafae Rt @ au-frede g aer w
anfaaa Y- weerar g1

T arafas fasha ¥ w9 SR TR W geen-dim st &9 {ril e-fases g @
Wil 38 W PR a9 9ea ¥ 9 R O Gha ¢ GA T ER

Margin of Safety (in Units) = Actual Sales in Units — B.E.P. Sales in Units

Margin of Safety (in X) = Actual Salesin¥T-B.E.P.in ¥

TRaT-E T SH-HE SR (P/V Ratio) % SR W A 1 A1 gt 31
feafa ¥ g7 39 ¥R o1 :

. " Profit
Margin of Safety——————P/VRatioxloo
- Y o forsnt & fred % w9 Y o o wohd) U SEF GA IFR B
M.S. Ratio = agnofSafety o,
Acutal Sales :

;gmn-;ﬂm T UG (Importance of Margin of Safety)—U&-Hl 1 Wed T
m —

(1) - w1 fosht ¥ v oar F) 39 9@ ) TERR SH w0 ¢ fF 9
whrerel A sfus-Q-aife fpa SRva o9 921 wal 71

(2) e el o =1 guen-dim %9 € siglq arafae fapg e a9-fase fag
¥ 7 ¢ < g F TR € 5 e R Fi- o arcfaes o aa-faeee fag @ ¥
B ehdl @ FRR T W A F e W 8 gehd 21 L feafa A freafafes soR @
Ren-dim ¥ gaAR frar 1 g @ '

() Feer ol F e s (i) eiEdie arel ¥ 0 S (i) SR awa et
T F TM ¥ TOaA § gis w; (iv) FeRa g 1 gig s

(3) GREM-T 1 s B A i qGeg it 3 s e ¢ o ot fan
e A A€ FH a IR A o e o Al w0 w fofa ¥ @ @m

 uu-frewg favawor & warm

(Uses or Applications of Break Even Analysis)

Y- fredg farvdiauT e % AR SArEwIfash T % T 1 YEASH fas SRd ST
1 % S ¥ e v ok geostl % &Sl #) RT3 Y-y 9% 34 g
F o v A o 2 R e F e ¥ gie € wwd 21 g wRada ogfes
st shad @ fdwar &1 wo-fade fawdve g vew ¥ o saeetes feafdl %
e gRadAl W (SR-fasha @ SHEER TS W itadT) S % Ao vl & S
FN WA B B1 39 faweie F fafe saes wEm 39 TR -
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(1) Tafir=r fasrar-ar=mett uT T @t TUHT (Calculation of Profit For Different Sales
Volumes)—Fifdw fopra ufer & & wftedirr it feat @l % Sem W e = #1697 &)

SR ERL
(i) Pt. = Sales - (V + F)
(ii) Pt. = Total Contribution — Fixed Cost

Or PL=S(l-V/P)-F
Or P.=S(1-V/S)-F
Or  Pt=S (P/V Ratio)—F
(iii) Pt. = Sales Units (P — V) —F
(2) 3o oW ! WTe T & aifoa fama ot Fraftor (Determination of Required
Sales to Obtain the Desired Profit)—S ¥ e sFa@ll 6] 9redl ¢ fF Al SQ AN A &
A & it & & g IR-R T ) et A 7 s w1 o Fuifild w3 € ©d 39 @eg =l
Wi & fay & 998 75 st w3 €1 o FR-F sfod oY & @ed 2 faan am f
1 ) IG THH ) M H % A fopat wrenfer fosht & @ft, 98 g1 e &1 30& feg
T T T FQA § S -k fag % €, e o e Tevd A § R 3 g i
feR AT % g 3femd 19 H T ol W1 @ St ]) WA H, 3femd <9 W e i 3y
Tifed fosra 1 frake w0 F fog Fefafae o =1 w@m fea o g @
Required sales in Units to earn a Profit of ¥ ...
- Fixed Cost + Desired Profit : or F+P
Selling Price per Unit — Variable Cost per Unit SP- VP
Required Sales in ¥ to earn a Profit of ¥ ...
_(F+P)xSP _ (F+P)xS _  F+P_
SP- VP S-V P/V Ratio
Ifg o9 fashg a1 Afawa & &9 X 91 FA B @ fOBea w x A, faan sfawe fasmg
R & W HET A I x N 00 e W4 e 3feza @19 e # R e ama 3 sige
SSHIURIE AR T x A Fd B A T w8 ¥, e g ¥ Frafafaa g 5 @ w1

Fixed Cost +[x % of Profit on Sales]
P/ V Ratio
afy wTe fasra o wfirera & WO H e S Y uteg Wik s faea e aar wive
FoTd TREdTvIE WrTd < g8 O Qe < A w9 a5 fonha e ¥ vew o & wfava
1 T T & e s 3 sfaea o @ ) S agea Frefafed g w1 s R
Required Sales in Units to earn a Profit of ...% on T.... Selling price per Unit
Fixed Cost

- Selling Price per Unit — (Variable Cost Per Unit + Desired Profit per Unit)
Desired Profit per Unit = Selling Price per Unit x % of Profit on Sales.
faret &t g 919 T oY W F—F-we fasht @ 9l @ wd 39 W e @
BN, Tg BT Sl & TR W wA & forq FrAfafes g w1 s e
(A TR TR g -
Profit = (Sales in Units x Contribution per Unit) — Fixed Cost
(b) afe foen o A & g @ A—
Profit = (Sales in ¥ x P/V Ratio) — Fixed Cost

Required Sales (x) =
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ST TR F MR R R e 716 3 ¥ Freafefiaa &2 sanT fran < e &
Fixed Cost = (Sales in ¥ x P/V Ratio) — Profit
et — QR s il <t sver-aver Haferdi & fosw) e A SIuel el AT arerE
ST & g8 ©Y, 981 W R @ (Fixed Cost) @9 @S- 19/ (P/V Ratio) (999 T4
A I W IR AW FA AT FE 0w R gu-fos faema A m e %
fam o @ v & o s v )
(3) = Trfver ww-fawade famg & for? wfe st fasear g ¥ 70T (Calculation
of Selling Price Per Unit for a Particular Break-Even Point)
Fixed Cost

Break - Even Point (in units)

As,  Contribution per unit =

and  Selling Price per unit = Contribution per unit + Variable Cost per unit
Pp= ————I-:——— +

Desired B.E.P

(8) Wt sl &) QU S o ToTu smaryaen fasma-umar & T1urET (Calculation of
sales volume required to meet proposed fixed expenditure)—fasa Wa-ua fasha =541 ¥ 3fg
Fh faha g F AT TR F T ) U feaf ¥ g ol & el s A A
galed Wo 9% 14 w1 SR {5 seafe fasea a4 ¥ g9fg ) Q@ 3 & ) fespa—mn
Y frat gfe srava® 21 gu-fasde favavu 98 wod SgH 0 F ond @1 gF &9 H—

Proposed Expenditure

Hence,

Additional Volume Required (in units) = == -
P-V or Contribution per unit

P.E. P.E. P.E.
or or
1-V/P ~ 1-V/S  P/V Ratio
%) w—:ﬁmwﬁaﬁw (Determination of Margin of Safety)—‘?fq—ﬁl@? farseram
W ) GUET-E ¥ 3k o W e 81 GRan-dn1 sqawrd T G 1 HI ek 2 e
fora ok wu-fasde fag W fud fard o1 3 QRan-dia el @1 g3 ®9 H—
(1) Margin of Safety (Or M.S.) = Total Sales — B.E. Sales

Additional Volume Required (in Rs.) =

(ii) Margin of Safety = Profit + Zomtroution
Sales
Profit Profit Percentage %100

" P/VRatio  _ P/V Ratio

(6) T g &t &=ft & qU = & fod smavas fama W @ worn
(Calculation of sales volume required to offset price reduction)—¥ei¥ % G 9gHl I8
e 3T 2 Fb Teg B w9 @ T 6 qow ¥ w9 w0 A i T SR we
S &1 o7 e W A ) I W W A WA * ol 98 Sevd® € o @ 6 faha
T B gfe 9 A o 9 weH @ § @ an-fasae favee g faska | o6 9w
i T R S Tkl 2 9 W W A9 & T SR B o T 6l 31 AW SEa
3R T F IR W fosed Yo 98 Ffvad o e € 6 19 e R v (o 9
? @ @ 7 fawa we B FA ¥ Rl F P o e e -

(1) In Units : Q_ = :”’ " where, Q= New Sales Quantity

n

n
and Pp = New Selling Price
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F+Pt.

Q) In%: S,,=1 VP where, S, = New Volume of Sales
- n
ST T R T A 7 frn 1 g o g gfe 9 < ¥ g wmn X e s
W o 1 a9 T TR @ S G 2

(7) foma go &t Tl Y QU W & fdr -t O g gy @t o
(Calculation of percentage increase in sales volume to offset price reductions)—u-fasde
ﬁ?ﬁmﬁ%wﬁﬁﬁwaﬂﬁ%ﬁﬁm—mﬂmqﬁﬂm ff 3 fopa
S Hohdl &l

(i) Percentage increase in sales volume (in units)
_ Decrease in per unit contribution % 100

New per unit contribution

(ii) Percentage increase in sales volume (in value)
- [Old contribution x New Sales Value

New Contributiion

(8) aREd=yfier 3ftt e wmwel & uftad T & wwre Y W& & Rt Rrerer aar
foena e ® aftew T (Change in sales volume or selling price to offset the impact of change
in variable costs and fixed costs)—=qaE™ ¥ IS ! T&H A3 ST Ieqre wehar o
QR B A3l B A H W g @il 3R wiedeie @i ¥ uitada s s ) anl
F T IR F A9 B QW FA AR TEAA - B TR A F 2 e geq saa
faspa-am & wftads < i U feafa ¥ 1 faspa qeg Stgan = faskg-mmn &) om A
T-faeae fawame /) T vaia e ot 31 39 o e 36 =1 e fean Im—-

(A) af uftardrofter el & wRtad= Bi—@t sive™ # a1 (Contribution Margin)
Y qftad o1 a1 &1 37a: A ) A TR TR @A F 6 kg A ereen faeg g
¥ oftad H B wwa o & ol Frafafea 0 s e s -

(i) New Sales Quantity (or Qg) = F+ P

: P-V,

(i) New Selling Price (or Py) =P + (V, V)

(B) f fraw wmat O afads B —7l gu-fasder fag ok v it ufin o oftada
o 9= 1 A A B TR TR TR @ S R kg e kg eg A aRed
HET B

¥ T F ferd frefalea R F s R

]— Old Sales Value

(i) New Sales Quantity (or Qy) = Q F,-F F, +Pt
i) Ne es or = or
v 4 P-V P-V
F

F. -
(ii) Now Selling Price (or P,) =P + “Q

(C) af e aftadvfter AT wmTal § afted=T §1—34 feafa & adam andl 6 ==
@A H T & o Frenfafiaa G #1 s R W -
F_+Pt.

(i) New Sales Quantity (or Qp) = —2
P-V,
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70,000- 30,000 40,000
x 100 =

- X 100= 40%
2,00,000— 1,00,000 1,00,000
(b) P/V Ratio = 22000=(=10000) o 30000 _, 50 309,
2,00,000— 1,00,000 1,00,000

(c) W1 & fopht e wa < TR 2, anek R A A A SR o9 9 A S 9

2018 ¥ 230,000 &k & 2019 ¥ 7 80,000 €rmI
P/V Ratio = 0000230000\, 30000 14— 509
2,00,000—1,00,000 1,00,000

Illustration 10 : T% &H TS, 91§ A9 9T 4 IR &1 SEEA T foaehg 21
Frafafaa ave @ o & faw 3@ aw-a= 19 &t e Hife—

A firm produces and sells three products X, Y and Z. Calculate the overall P/V Ratio
for firm from the following data :

Products Non. of Units Sold Selling Price per Unit - Variable Cost per Unit

T 4
X 2,000 100 60
Y 1,000 120 ' 90
z 1,600 50 25

oo @PId % 60,000 Sfaad (Fixed Cost are T 60,000 per year).
Solution : (a) Calculation of Individual P/V Ratio for each Product :

PV Ratio =32 =7F 100
= 100-60, 1 00= 40%; ¥ = 120290 100= 25% 7= 0= x 100= 50%
(b) Calculation of % of Sales to Total Sales :
Product Units Rate Sales % of Total Sales
¢ £4
X 2,000 100 2,00,000 50%
Y 1,000 120 1,20,000 30%
VA 1,600 50 . 80,000 20%
(c) Computation of Overall P/V Ratio :
Product P/V Ratio % Sales Overall P/V Ratio
0 ® )% Q)
X 40% 50% 40% x 50% =20%
Y 25% 30% 25% % 30% =7.5%
zZ 50% 20% 50% x 20% =10%

Overall P/V Ratio =37.5% -
w2 5 T@ 1 IEfEE 9 UgF SIH-A 3@ 37.5% R
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Fixed Overheads
Total Cost Per Unit
Selling Price
Profit Per Unit
w-foes & fad fret TRl S SR?
How many units must be sald to Break-Even ?
Solution :

-5
3
— 2

= A

SN0 oo o

Raw Materials

Direct Wages

Direct Expenses

Variable Overheads
"Variable Cost per unit 24

Fixed Costs = 10,000 6 = ¥ 60,000

Contribution (C) =S — V = 32— 24 =T 8 per unit

F _ 60,000

C (Per Unit) 8
Illustration 14 : TF %7 & =1 faarw @ av-fa=e fag 3 FifoR—
From the following particulars of a company, calculate the Break-Event Point.

Break Even Point (in units) = = 7,500 units

. 3
Sales ' 1,00,000
Variable Costs 60,000
Profit 10,000

Solution : Computation of Fixed Cost :

3

Sales 1,00,000
Less Profit 10,000

Total Cost 90,000
Less Variable Cost 60,000
" Fixed Cost 30,000

Contribution (C) = § —¥C .
= 1,00,000— 60,000 = T 40,000

Break-Even Point in 2 = = x 8 = 22%%0 1 00,000 = 2 75,000
c > T a0000

Ilustration 15 : f=1 faawoil @ u-fa=de fag &1 oM Fifve—
From the following particulars calculate Break Even Point—

T
wfd 5% faRa o9 (Per unit selling price) 20
i 318 IRad"vied @R (Per unit variable cost) 15

it @ (Fixed costs) . 54,000
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Sales for the year ) 2,00,000
Selling Price per unit 20
Sale for the year _ 2,00,000
Selling price p.u. 20
= 10,000 units
Contribution (p.u) = SP-¥C=20-4=%16
B.E.P. (Units) = ——
Contribution {p.u.)

= 801—(;% = 5,000 Units

Solution : Sales in Units =

Margin of Safety (Units) = Sales (Units) — B.E.P. (Units)"
= 10,000 5,000 = 5,000 Units

FC
x SP (p.u.
C. o) (p-u.)

801000 x 20=2 1,00,000

BEP.InZ=

~. Margin of Safety () = Actual Sales — Sales at B.E.P.

= 2,00,000- 1,00,000 = ¥ 1,00,000
Hlustration 24 : Frafafea feafadl ¥ Qan & e ! T HifA—
Calculate Margin of Safety in the following Cases :
(a) Profit = ¥ 15,000; P/V Ratio = 40%
(b) Sales = 20,000 Units; B.E.P. = 15,000 Units
(c) Sales = ¥ 3,00,000; B.E.P. =% 4,50,000

_ Profit
Solution : (a) M f Saf e
olution : (a) Margin of Safety () P/ V Ratio

Margin of Safety ) = x100=% 37,500

15,000
40
(b) Margin of Safety (Units) = Sales (Units) — B.E.P. (Units)
Margin of Safety (Units) = 20,000 15,000 = 5,000 Units
%(c) 39 W o fashl 3 Ofv B.EP. aﬂumaam'é ¥F%: T Margin of Safety (3)
-
Illustration 25 : Fr=ifera gamsli @ - 1 MOA THE, TR @ Haea A
HfTa—
From the followmg informations, calculate Margin of Safety in units, rupees and
percentage :

: L4
Cost of Materials (p.u.) : 10
Cost of Labour (p.u.) ' 5
Cost of V.O.H. (p.u.) 5
Selling Price (p.u.) 25
Fixed O.H. for the period 7 2,000

Units produced and sold for the period (1,000 units)
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mmmﬁnﬁwﬁaﬂmmﬁmmﬁmmﬁlm%ﬁm
mmfﬂmmaﬁwom%ﬁmm%ﬁmwﬁmmmz
fareh ¥, A wor wro sTEvEswar 1,000 fRe il S8 STavEal W 51 w9 § o st
ﬁmmmtnmﬁ:ﬂmmﬁlﬂﬁwww@maﬁ@ﬁmm
R A Ton ¢ fear wm

(ii) ‘®NIft 2% €1 (Material Purchase Budget)—Teit SIavaehdl S92 & 4R &
R gl % ARfive St sfm R A =1 ¥ W@ g ATER % ha S EET 9 el @
fifeea foran wmal &1 o W A afrER B AR e e @ ok wE e e
Savaehal & Hfaftad SrefmeiT sgEmal w1 @ W % fag fiqeafaanget ifim wa wta 2
T 99 S TR w1 ¥ i Frefefiaa sl A we ¥ @ savas —

@) m%mmﬁ#maﬁw—ﬁ@m maﬂtfmﬁwﬁ

S A2

(i) & wrEl % arfns ok Sfar whm

(iii) 9 ! S AT TR w I

(iv) JHR %9 & o 9 Pram H &y

(v) gAGH 9 Afgwan Biea T 9= :

(vi) T g4 %9 G O TR AR F T F ITH oA

(vii) 9 SARY & G it SRfas Wi % e qHa ST

(viii) f&fi= Tl | gl % 9 & fou snawas foa 6t saeem

(ix) wrph & e § wenfaa qiEd

(x) W F IR S | W wrl H A

(z)mm(ubomBudget)—mmmﬁﬁmam‘rﬁmﬂmﬁz’r
waa €1 W sz F Sprta Iag N Wi sfed e aisdl W w6 % fag smavaw
HOR 1 STHA I e 81 9% Fiffere v ¢ 6 9w @ ufiey e 3 ok aw w
fifisra TreAl 1 o Aheg a @1 5w S 1 Fraion s fawm gRo fR s 4w e ¥
Frefafen e wite wd E—

() =i = don « I Al

(i) fafe= Aot & sl =t s R

(iii) fafT=1 Iore sraftdl § afiel W fFa S A $@ &4

(iv) sl & wftreon =t g, wmmaﬁmmamu

(v) sfteR | @ s aeh giEn

(vi) S 1 @ M e glaend)

T a9 F W FQ ¥ Frafafaa a6 @ R o A @ 1ga —

() s W g N dhad vied

(i) st Y drgal, YT & MY

(iii) W & ANIH H9 T FEAERA F A

(iv) wfgemg & s 2 glam

(vi) sfr F ferg afiem Qs

mmhmﬁwmﬁwm%ﬁmaﬁmmmaﬁmmw
T Fred 3w i 79 TR A PR o @ b S &/ § $iE e 3 A
. w,mmammmm#mmmam@m
T 4R T—
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Direct Labour Budget
for the period ended...
(Units A)
Units B) Standard Hours—
Qutput : :
Classification No. of Hours Employed | Standard Total
Employees Hours Rate Labour
Cost
A. Males : ‘ : Rs. Rs.
Skilled — — — - —
Semi-skilled — — — — —
Unskilled — — — — —
B. Females :
Skill — — — —_ —
Semi-skilled — — — — —
Unskilled — — — — —
C. Total — — — — —

(3) FuTew IURETT A= (Production Overhead Budget)—39 9<1¢ § eas aneit
STIAE 7 Y1 SN I I ) WA fha ST 21 I IS I HrdshA H
T HA F AT RGN 9 Suge ol § faafom ot 21 Iuge @l § ok
gfinfer w3t 3R Wty far ¥ sreifed fba s 21 ot s el Qe sl famm &
€ A ST e IR A ¥ I9ge SR W € =it - ¥ w5 AW dAR
H0 A Il i i, ST@-vRadTeia 9 v syaf ¥ faafra s fear s &1
Tt S9ftery geeq Ed €1 9 S Ta o ) g F uiads w i e € A 3 I
MER W efafia A wfew) aitadreie Sufterd Sware #i am % SIER ufiafda 9 &)
1A ITE F91E Hl J@H IAIG hl 7T F IR & 3aR W W JuRemal #) ufer ffea
1 S 21 SR eI W w1 WA T 39 WER —

Production Overhead Budget

for the year ending .......
Production Dept. Total
Particulars A B Rs.
' Rs. Rs.
Fixed Overheads :
Indirect Wages — — : —
Depreciation — — —
Rent & Rates — — —
Taxes . — — —
Insurance — — —

Service Department Cost — — —_
" Total — — —
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(iil) ATAEE =9 W TG T 9 FR|

(iv) 9IS & W=y § ffd w1 o) =54l

(v) Tosha Frier & o, 3, Yo, ST 9 R0, ©IE & 9aq e =59 &

faska | A o A ¥ 9 uiEd

(vi) W &I fagma & Tag 5 Hif

(D) T & 4T =T TAT (Research and Development Expenditure Budget)—
SIEEH TG fam Fraf T fhar s aren oug Frds o 9 fe fafam weam 1 de
% g a&g % U1 3 fohen A Ve IRadd o < weh € i g gag S @ qu s
| FATEHH 7 faerd o2 %1 g faxiia 9o @ e g @ AR e od ¥ om =
%9 9 39 FH * o st w@ fan w2

\’hﬂ?{mﬁ(ResearchCost)‘qﬂﬂ?f?QﬂWﬁﬂi IR it @IS GEE F T-AY
Wﬁaﬁ@aaw#agaﬁgﬁwﬁvﬁaﬁ@hmﬁ?ﬁmm%mmaﬁ
AR 9gT8 Wl 21 e s ¥ Frfia ST o w0 ¥ @ ¥ @ 9 e
SRR, T, Giwn 3fg whiwter 8 21 38 oor % Ffo & frefelea s am & @
anfgu—

() 98 T F IAREA FA & @&

(i) T Haegst ¥ e &t aeEHIl

(iii) S TfE N )

W T e o1 otz § ol &1 geae W o1 3R fawrg s A | s 2
36 g9 ¥ Y Aeeell a9 e W g 18 Aerel W awe eafa o ey s e
wofe odi 3R g viw Aerel | ¥ arel e el &1 YaiqHe T S /1Y S5
Wu 7 faem 8 % Taw ¥ aesTaty a e & A se-sem SR 8w

MY T foehTa ANTT &) AT 61 Tk 379 e T S €1 3R a5 ) An e 1
A it 7€l foran s @) = & o 61 ek e wfovi 39 @ % fog B % w9 ¥ srem
@ 9 ¢ oy @ arad § 8 ol o & e 9 sy wataa sfueRdl @ &
Wt 21 :

(E) far<iter =23 &< (Financial Expenditure Budget)—3g a</e S91e1 9&@qui &1 21
T 44 1 I § WO W T8 S 81 3 o W @l 3 € 7el ey S 13 =51
o % i ¥ H ergferfaa s fed o & 3 o ¥, g, oriied R, IS, W A, g
3R =R, g wefrl @ sTeerE Sulq S HHvE, R T HOEE W SER SR
witafem €1 €1 A e TET SETIerh MR HT B $H 73 &1 qaigEH fiee ad % fadia
AW F} AT I WETEA o s 21 fasig == & fow srem @ wwe dar e s
3k 3 = R wem % g ¥ 1 e e S #) sl fanm @ wma F e
w2l <1 fefor &l e S R

2T I HhY AR

(Preparation of Master Budget)

a faarti ok sumi & fou gow-yae faagd ol FaR X OF % TvE SHE
Hfira =N T guE awe B winfaa S foan s @ fY A Soe w'd € 98 96 w5
W@ 2 B 21 gaen Fmior s arfemrt Fa 21 59 S9E 7% §9 @ I N g
B &1 T2 AfEHH 6 T ) Toie Wik ¥ SR HEE GEE "vsd § Hrara



http:tlFUif(.1d

352 / T Tagersor we ot

-} WHfa 9 T 21 39 G fomea, fosha @) T, SeA Sufieya, fama | farmw
Sufteqy, Gael R Y& @9 # YR A & w9 ¥ dftaiaa S w6 21 amdo wWo T
To, AT ¥ ITER ' ATt §9ie U AR § faaw wvit dues frams awre aftafem
a1’ W@ wor F w9 am-aft @ iR e a3 F w9 ¥ e weE R
o 2t RQ Fore F o & RN 91 ogas ¥ Wg-wg 39 T S # f fRaer
W #1 S O SR T 9 ER 8—

Master Budget
for the year ended ....
Particulars Dep. A Dep. B Total
Rs. Rs. Rs.
Sales — _ —
Cost of Sales — — _
Direct Materials Consumed — —_ —
Direct Labour — —_ —
 Variable Factory Overheads — —_ —
-Fixed Factory Overheads — — —

Add—Opening stock of finished goods

Less—Closing stock thereof
Gross Profit
Administration Costs
Selling Costs
Development Costs
Distribution Costs

. Total
Net Profit
Assets :
Fixed
Current
Intangible

Total Capital Employed

Less—-Current Liabilities
Net Capital Employed ‘,

Liabilities
Long Term Loans
Reserves and Funds
Capital
Debentures
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8. Ashg M & FrdeM A i W Ashg-g2 F w9 W FoFar 51 wbert 21

9. 38 = | fafu=1 fawmil % =2l &I FHaaE F 9rel % S7ER Hifga b s g%
31 TER aEE F ATHEd 99 M Ha QA 8 FHe Wl e

10. 7% SEETyE fFael ¥ Uwe fufy W gonfae sfiom) < v w21

11. raqu Yehg were &1 feafa F de FAad A W9/ 391 T FhagES el
TFd 2, W s Ves I F WA 1 AEEET T8 @ 2

12. Vehg o2 &) GE™al ¥ q¢ TATAA 1 1 Gehent € 6 i o fohad won A
AFg F HAravgehal eUill T8l ¥ STHA B W §7h! 3faa =uaeq #1 o1 gl ol

13. Uhg T2 H] TEEAl A IR & faf= faumll gR1 ford 9F a0t Aehe =4 W
fEAvT foaT S THaT € 991 STqy I Aol W Tl ol

14, Aehg e 1 FeEw A Gew & faia freaesi &1 geaie fohar s aeba @1

15. qEfy @ 98 8 A 9, S F R Vshs a1 1 7g ¢, i i o) oafrdi &
A 1 fafire TEa AW 31 79 v A I 1 HW 9 & @ gwa

16. IAEA g9 a1 fhT a9 AR FA H Vahg w2 6 W Tavawmal vt 21

%17.ﬁﬁﬁaﬂam—aaw%wﬁvmﬁwwﬁaﬁwﬁ%aﬁﬁmﬁma
<t 2

18. SEEEHA @ AU kg IueT=d o1 W regr fafran # e el S
foran s s )

Ah3 T & H

(Functions of Cash Budget)

1. Preare &1 geiehT (Evaluation of Performance)—38 €1 & & & foaeg &
TEHIE & AE F 9 A w2

2. Yg& Tiw Sfifer && W@ (Maintenance of a sound dividend policy)—d® FH
F W foufy F S ER T ggg amiv At 8 @R A wwEe @ € e Tae aviw
TG FA § Y1 The A % ol Seeas Al 1 Iqceea g 9oie 4 € 9 g 2

3. Sefareii faeiter FratwrT @ 3w (Basis of Long-term Financial Planning)—
Uhg o Sedwrid faxg Frinm sik faw &1 & sgagel SR ) 98 omavas
Aeipreli i R weifen T, €9, MG 6 W, TYTE @ 9l F e A
SefeTel e o 3 orer b ford Frdvra 3w 3

4. Trat Tt wret SavaEmarsit T QT (Forecasting the future requirements of
funds)—UFS e 1 AG0 e AR e B 1 TEvEwar g, & & fraf § v
Bt 21 Vokg Toe H TR A Gaifas o wia A 3faa vl | w wfta Fafa 5 s
gl 1

5. T@e =qal WX FRT (Controlling Cash Expenditure)—Uehg awe T Frimm
I ot }1 faftr sl & g SaEE & 9ol & e FRIPE f6Y 9T g €

6. WERTTH TR Sredwhul & WHTE a7 080T (Testing the influence of proposed
expansion programmes)—g 9 NEIfAA FFwA &1 Uhg foafa Wy & & qdar
ﬁﬂmmitwmwm%ﬁmm%waﬁﬁgﬁﬁaﬁmm
Xl 2
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7. AT §9 W&AT (Maintenance of Liquidity)—4€ T & 1 9tedl 9110 @A
I 1 B1 39 FER Vg F @ FAeA ¥ I F 9@ fefs o o 2

8. g V1Y H=TA W& (Maintenance of Cash Balance)— 48 Si¥Ia SAavahaiai
¥ fod Sfud e O S & 3

9, g Fraeie ¥ WeTa& (Helpful in Cash Planning)—eg soi Ushg F Frire &
f GeE% Bl 21 98 F4t[ gy fagd W Use onfusd 9 Vg it & aufar 21 9 &
:g{uﬁ%_fﬁaﬁwﬁ?ﬁm%sﬁa@aaﬂtmwﬁﬁ%mm

W w2

Tehg woie ot frmtor

(Preparation of Cash Budget)

g w9 TR FT F Y = w9 397 v 2, 9% 5 TFR o—

1. &1E &ty &1 Fmior (Determination of Budget Period)—U&g S w1 A qd
Y vee s A F Faia o v 1 98 oEfa wa: o I ¥ arey 4w
Wi & W fop amre: ww ad 9l 21 Afe eraf # fifg S T SawE 9 v @
o e A W 9| gfe sgaar Badt vk w1 R @ & saaaitas B & i s
Vg I AR &1 =fied) Fraivh deael & ford Seleela U aoe o s o g 8
Uk a2 F1 3afy Freifa 87 F uvan gel wafa 9 SA-B safd I foed,
e, dTafees, Sfte srafil 3 fawfva =t o 1

2. mmaﬂ STHTT (Estimation of Cash Flows)—dasie orafy = fFafa s &
TN 39 FafY ¥ SauE A ¥ a1 s S1=disl (Cash inflows) 991 Ushg sifgafal (Cash
Outflows) =1 A T el 21 fohtl sqramias Gean A wg <ale aMaa: 793
fom, 29 A ageh, fafrm A o onfe a8 R wafs Aws afeal o 1 %7,
eI 991 3 G, B W AW, Yot W AW ot & wEw N R W g %
YROTIEETEY € 21 39 tfofker Hi-Ht Sivr steran oy ot F e e o witaef
¥ fopha A ot Jwvg FaiE O Fha 21 T THER A AGG %O YN F WG a9 g
wREmEiEl F %9 FH W IHg dfedie O g 2

3. favita amavaemarett &t fFraiver (Determination of Financial Needs)—=-f=
qua safedl & fad Asg sraatdl ok Vs afealdl w1 e @ F Ivem 98 2@ W
2 6 frg ag orafa (g 7)) A e = fiaelt &t @it aon forg a9 omafy ¥ fradt
ftrar WM 30 9 R YR F A sy | A smavas G B g 7 W €
Iqered Sfee o e s 3 fafEif fea e gl

Uhg a9 & st Tafuat

(Methods of Cash Budgeting)

Qg T T F I Yol srgar fafimi —

1. sifta & qa fafe (Receipt and Payment Method),

2. warfea @w wd @f fafe (Adjusted Profit and Loss Method),

3. waifym feafd famwor 9gfd (Projected Balance Sheet Method)

¥ A1 sghrl soen faferd @ Gt fo@eE @ TR d—

1. wifee @& raT fafir (Receipt and Payment Method)—3d% walfash yafed 16k 21
e g AT 3 ford s v = fafes @ s e < 1 e v o
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™ faft & o=l Aors wor & w9 Frefafad TR & e 8—
, Cash Budget
(Receipt & Payment Method)
Short-term Cash Budget

Details Period 1 Period 2 Period 3 Period 4
3 5 3 L4 ¢

Opening Balance
Add : Receipts

Cash Sales

Trade Debtors

Loans Received

Sale of Capital Assets
Other Receipts

Total

Less : Payments :
Trade Creditors
Cash Purchases
Wages and Salaries
Interest Payable
Loans Repaid
Capital Expenditure
Taxes
Dividends
Total

Closing Balance

wifte w@ e faf ¥ U a9 a9 9T o @ 3 wd—

1. - AT & fAQ e o 1 e T 9, Shae 91 WEH § Teataa s
& JEF R @ oF ¥ w0 $ wetua sEfy 3 gd a1 1w e @ gmE w
#1 oI T 2

2. g wore H w Frelifta w99 & Fae 34 -3 W oo fra s @ S vl &
A% TATE ! IR o &1 AW oA A Ashs wore N ¢ feran <man e e & e
T o s, R—, I, O T, $_W =Y A

3. fg forelt o F werg § ¥ we FSw T 9 A suw W] w@ e 9 wER B
ST B

4. TfE Fortlt T & = T TRaA W A TraE F 90 QA FH D D Ug F A A
T 3§ e fag Frefafea < fase 29 3—

(A)afE difed i % Q. et B & ®9 § % sifafaed w1 @ fan T 8@
A 3T HE F IO H T e 9 (-) F e o 29 € el su ae ) i &
SRt I et F WA R v 24 L

(B) afE & 3 SR W STouamci= =W forar @ ARfisten A9 Y= e S e
frea we fae Tfe ) navgswar &, Iw1 Yo=u fmar 1 g g
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3. grfreat o &t (Decrease in Liabilities) :

(i) Decrease in Sundry Creditors

(ii) Decrease in Bills Payable -

(iii) Return of Capital

(iv) Redemption of Debentures

(v) Redemption of Preference Shares

4. 9 I T &Ht (Decrease in Net Worth)

3. wore T rgar yRt fager df (Budgeted or Projected Balance Sheet)—3 Oft &
Sl o Foi farg W Aehg-feafiy o1 [EIAAM 0 o1 S fhan s 81 59 A s
ety & o H T Nafya i fazar dar fea s @1 o Qe & I @ st
F B A Tt Trfvdl au A IFR F i, IS0, €99, a-w war & g A
YEiAM R Sl &1 qevEr S TR H i fagd A wdfa Rt fagd A i A
e & a1E g & ) SR < AW A= @ I qehg W A o @ S A A gl vy
! 3K w=a @ A I o ifufawd T S R

I AER S9ET
(Zero Base Budgeting)

Y[ AR F924 (ZBB) ¥ ¥ ! T ¢ qoh-1h & ol fien & diet To T
A fasfaa fean wEvgn sus wam st & sqagd v fomdt H1E 3 1962 A T
=3 ) PRI 7 % 3L A 691 919 3 i o1 & TR Q) o 99g 3 319 awAe
1 WA Y P we v 2 s ®9 @ R WH @

Y RN AT T AT (Meaning of Zero Base Budgeting)—asied &l A=
T B T a4 & TR B qd9H a6 F a9 TN F Y UR G @ 8 T TFR
TEAE T4 F a9 T F AU e F G ) 99-5eF 7 T e 3R I F AR W
T fafiaa forar s @ % e % oil A 58 o9 o ofteda e S g Y smanfa
iz A wosh Y woie T Rk A S i € 99 e & W ) SR T 7 e
A ! T aHIE N 98 Fag FA1 ISl 2 5 adae af & wore F Fmfon adum o @5t
ffeafea & TR W 6 T 31 Yo o fed w1 % A S R e @ € e
sitfeca =) fos 01 Tgan € 6 T STEvEE € a9 SEH TU FA & fAg < ufer wid o @
a2 %14 %) 2@ 7L 39T 21 39 WO WO TN GHY Y B SER JF ST § 91 Fhae
Temel ¥ wRden § o W frar fifvad @ TR €1 39 YR €9 FE T € fF
T B O qE A T St e e 79 RR A S0 ae oete G i s 21

GRWTET (Definitions)—= Y4 e Swie ! Q) IRANY & 78 §—

1. 41eX Wo WTaEt—fo79 Gavgq 59 awi% & fawiaa a1, & Yt § 9 3R
727 OF! (4315 TF T2 Sl541 € 50 7% Ha-9% @ 39 R J92 $} SNavaharsil s
73 iRt Q I %13 &1 3ndey &1 91} € 7o Y% & S 9 a1 & facd 3 [5G #3 37
YR SIe7 &9 el @ fo g farlt Srafer @) ) 299 w31 39 g & ot (e fvfg
&% IR R faveifia 1 st & ik e qodien sqaleya faveryor & sTaR W glar &
Td 78 & SR W 37w A FAfeer gt 817 _

2. WéE $EITYE ATE BASIUE THSTRUEH (CIMA), TiS & IER T 9%
FoieT oF U} fafy @ s are 910 999 X% ) 9 fEaie #1 Y7 i gar 8
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(iv) wHEt & TNed TE SAE@dr ¥ gfg—afg swfen e @1 auR
FHaEl F1 TEa § @ 38R FHARE F HIae dedl @ 3R IR Iaeewa § gfg e 21
Foie & fmior ¥ wreiEl & g w9 ¥ IR AGS FeEd & 99 FE FE 6
WedTE I & S 21

(v) wH=fta & Srfareat wt frattor—asifdn yama &1 o Ta o= € foed oo qedl
F Wfa & fow dom * FHRE & AfveR, Fd7 IR gfaa ffvea o fae s &
Tl ¥ gifraaar on R @ @l @1 Wi 7 ¥ W wEfEa sUert @ 396 99E H
ﬁﬁWWmance)%mmmmm%I

(w)mmﬁw—w%mm%MWﬁfmﬁm%
anydl g, e 9 SAfvefEal & sifawr 3 ofge, aemel &) fwarad #3 #1 fafa
 anfz = gud fefiad 2 €1 58 we-a e e & Sie ¥ sramee 5 feafd @ara @ sl
1 A faflga o &l § &9 o 9 wifdl | R * D

(vii) fraeafaar—aaar & gt fad wieal &1 IRm fFEfae @1 9 38 SR 8
foran <t 21 o 3R de & fed | i faadin v 7 1@ ok Ge %) arveswa ¥ 9fe
R e & faehg wredl %1 frseadl W 3% o @ s sl saesa i A gfgad

(vii) Sugea frofa o ¥ weme—fad fofls W g9 & @ gl e w
IHiaE o g % 99 e F0 5 ARd v & geel ¥ Yoy 89 @ ety froly
JHEEHR | ST € SR 1 I9eTeE TG 9 Y% Gy AHS a9 o2 F wadl F e
Q, NG & SUgE Fofg A A verEe | HioTE TE A R

(ix) FTHRTEAT ¥ ghg—asten } €6 ) aveEd ¥ 9@l B 81 %W, qrel,
%ﬁgmmﬁwﬁwaﬁm%mqwmﬁwmmﬁw
g 21

At st dard
(Limitations of Budgeting)
ml{;mﬁmm%mﬂﬁm%msﬁﬁmﬁﬁwﬁﬁwm

() T & STTAF A YRYEAT 1 ANE—aE & FIAMI F IRYEA Bl [ a9
I %) T 91 AR B FHHU 99 Al 1 I G IEE A A ¢ i Al
T ¥ Y e R A I ER W Ay A Fioly s o SR € o6 &
FR-FH T F ATAA TR F WA 7 W R AR TR N S Ry B
i #Ed 2

(i) Teifeit Tgfr—ush yomavmeh s=fen saaey &) wifyg w0 & w16 =59 faar s
2 W T wmr aEE % A ges 4 A @) o sqaari A R o e & o
Y A9 ISR W qE B

(m)wmwmww#f—wﬁﬂm"ﬂ@ﬁw% W& & WA
T %1 SWféT =HEE | AN A 2 T W ITH A9 0@ T A I T IS A e
TS 9 $ve Yoo o Savae ¢

(iv) S AT & FeRaraa o @i T SIWTa—eoe. 4T 1 haraas &
W oHad % € § TE Q) bl |1 59 FaWl % o % A S H) G T
TaS T IS 2
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(v) &< Toem &t ravaaaT—a%d §9i2 Yulel! & fofe deen ¥ swie fen 1 -
eI TSl 21 THR wergen ¥ fafe=t faferdi w1 v, 3 gER T o= fafed g7
AT g 2

(Vi) HaTETah T W TIg4a i GHIETT—afe |8l & fFraRer serafys |
T TWSN & ged N gonl @ A e F wee & R F1 grwea wdt @1 R |
wur & fisan T 0 R G 78 @ T &

(vii) 3tfer Favga faaror—arsii-vit ot faega el o s &1 wifee =1 St
R 9% wieem € 34 sgawd A Fguarh, wueql 9 e a9 2 &)

(viii) Sgert aRfrafrat & SR wwraT iff—ase # fmin gaigEe % smar
R B &1 A A At gmE Q@ wH-wW guEid T8 8 I 1 a9 % | @5
FEord sRfeafadl % ER urEeE ahaTa iR saERiE T8 21
SOME IMPORTANT ILLUSTRATIONS

Hiustration 1. (Sales Budget) : 3! 31qed &) ¥R % fE@—rsn 3R T &1 Sere
FW ¥ 3R IR AP W g F IR F 9= #) we ad & fou frefeRad gEA
I §— '

Mr. Atulya manufactures two types of toys : Raja and Rani and sells them in Agra and
Mumbai markets. The following information is made available for the current year :

Market Product Budgeted Sales Actual Sales

Agra : Raja 400 at Rs. 9 each 500 at Rs. 9 each
Rani 300 at Rs. 21 each 200 at Rs. 21 each

Mumbai : Raja 600 at Rs. 9 each 700 at Rs. 9 each
Rani 500 at Rs. 21 each 400 at Rs. 21 each

SR TETA A dia el € el e et € @ifs a8 =gA gedited € 98, 3@
1 5 Al 3He IE | T |/ ol fEa 9 A 9% SR ¥ @9 whm| e ol T’ Sfd
eifehd § W 9% IR ¥ e @9 Tl § A s9eht o9 20 T T Sy v
SR g IREd % Y weme € o R

ST ¥ AN T 6T Foraeh] 3 imifrd Sgar dar 6 §—

Market studies reveal that the toy 'Raja' is popular as it is under priced. It is observed
that if its price is increased by Re. 1 it will find a ready market. On the other hand, ‘Rani’ is
over priced and market could absorb more sales if its selling price is reduced to Rs. 20. The
management has agreed to give effect to the above price changes.

On the above basis, the following estimates have been prepared by Sales Manager :

Product % increase in sales over current budget
Agra Mumbai

Raja +10% ' +5%

Rani +20% +10%

e famre wfogm F wera @ faka va=e! & fama el @ st fefafaa
SHfafaa foma Tva 3—

With the help of an intensive advertisement campaign, the following additional sales
above the estimated sales of Sales Manager are possible :


http:qfU~n.4i
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Product Agra Muimbai
Raja 60 Units 70 Units
Rani 40 Units 50 Units

IRIF G FI WA FQ gU S BRI T AR F B

You are required to prepare a budget for sales incorporating the above estimates.

Solution : Sales Budget
N Budget for the Current Actual Sales Budget for the future
" year period
Units | Price | Value | Units | Price | Value | Units | Price | Value
Agra Raja 400 9 3,600 | 500 9 4,500 [ 500 10 | 5,000
Rani 300 21 6,300 | 200 21 14,200 | 400 20 | 8,000
' 700 — 9,900 | 700 - 8,700 | 900 - 13,000

Mumbai  |Raja 600 9 5,400 [ 700 9 6,300 | 700 10 | 7,000
Rani | 500 21 [10,500|" 400 21 | 8,400 [ 600 20 12,000

1,100 - |15900| 1,100 | - |14,700{ 1,300 | - |19,000
Total Raja | 1,000 9 [9,000|1,200]| 9 [10,800|1,200| 10 |[12,000]-
Rani | 800 | 21 [16,800| 600 | 21 [12,600] 1,000 | 20 |20,000
Grand Total 1,800 25,800| 1,800 23,400 2,200 32,000
Wbrking Notes :
- ol afa % faw awes fasl & " (SREdl W) $9 TER 9| @ T E—
[ : T :
AP L] PR Ty
T 400 600 300 500
. : 40 . 30 . 60 ., 50 .
qr; 0 (10%) 0 (5%) 360 (20%) 350 (10%)
- forreR-sE 60 70 40 50
(71 W HeSH) 500 700 400 600

Ilustration 2. (Production Budget) : F1i¢ T & fdfo 1 SMRI ‘& @ T &
m%ﬁ%lﬁﬁ2019%nm7%ﬁﬁﬁaﬁawﬁmﬁfaﬁﬁmmqﬁgmqﬁ
e e—

- . Months Jah. Feb. March April May June July
_ Product A 200 240 320 400 480 480 400
Product B 560 560 480 400 320 320 360

g 98T @1 It ? 6 (5) ot <t we & 3 A it e T R, (i) T Wi
& ara ¥ fafa shEal 1 Wiw 2 W @t ol (T foaer wfgd) w1 e '

Budgeted production and production costs for the whole year are as follows :

Production in Units ‘ Product A Product B
4,400 4,800
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Rs. Rs.
Per Unit Direct Material 12.50 19.00
Per Unit Direct Labour 4.50 7.00
Total Factory Overhead apportioned 13,200 19,200

30 S 2019 I FH< €1 a1l 6 AR 1 31afa & foe s 7EA 1 e a9 agl
@ S A Ss1E TR i

Solution : Production Budget
(Period : Six months ended 30th June, 2019)

Months January | February | March April May June Total
Product AIlIB|A|B|A|B|[A|B|A|B]|A V B A B
Sales (Units) 200 | 560 | 240 | 560 | 320 | 480 | 400 | 400 | 480 | 320 | 480 | 320 | 2,120 2,640
Add : Closing Stock | 120 | 280 | 160 | 240 | 200 | 200 | 240 | 160 | 240 | 160 | 200 | 180 | 1,160 | 1,220
Less : 320 | 840 | 400 | 800 | 520 | 680 | 640 | 560 | 720 | 480 | 680 | 500 | 3,280 | 3,860
Opening Stock 100 | 280 [ 120 | 280 | 160 | 240 | 200 | 200 | 240 [ 160 | 240 | 160 | 1060 | 1,320
Units to be Produced | 220 | 560 | 280 | 520 | 360 | 440 | 440 | 360 | 480 | 320 | 440 | 340 | 2,220 | 2,540

Production Cost Budget
(Summarised)
Period : Six months ended 30th June, 2019
Product A Product B Total
- 2,220 Units 2,540 Units
Per Unit | Amount | Per Unit | Amount
Direct Materials 12.50 27,750 19.00 48,260 76,010
Direct Labour 4.50 9,990 7.00 17,780 27,770
Factory overhead 3.00 6,660 4.00 10,160 16,820
Total . 20.00 44,400 30.00 76,200 1,20,600

Illustration 3. (Material Budget) : U 3G Fv9= 1 fasha dameres omal af &
T IR H 54,000 SHFA & AuA F A HLAT 21 IAEA JoUh I RH-HIW A
forar-fame &, T TWE 1 39 WA fewe o —

IAIE & IAEH Y & WK ! Fedt At ‘7 a9 9wl Aravashal s 3AR Hi
ToF TEE & fau o7 M 2 swgdl qu T H AH THEE e ™ 99 F o ¥
A WRFoe A9 56 TR eH—

faftfa AE—10,000 ThEAT 31—12,000 IHTLEI, §— 15,000 THEEN

™ 9 ¥ = § wifed fom A9 39 TER EF—

faftfa Tre—14,000 THTEAT, 31 — 13,000 3HRAT, §—16,000 Fohgal

I 99 & fAg el wa 992 F1 IRE0IEE 9l SR

Solution :

The units to be produced = Sales + Desired Closing Stock — Opening Stock

= 54,000 + 14,000-10,000 = 58,000 Units
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Material Purchase or Procurement Budget (Quantitative)

Items Materials in Units
A B

Consumption for expected production at the rate of 2 units for A | 1,16,000 1,74,000
and 3 units for B :

Add : Desired closing stock 13,000 16,000

_ 1,29,000 1,90,000
Less : Expected opening stock 12,000 15,000
Units to be Purchased 1,17,000 1,75,000

-~ Hlustration 4. (Selling and Distribution Overhead Budget) : fr=ifha sgamI &
" forsht-arfireng wiete dur Ffe—

w9
[CEIRES 2,500
famt faswm & 99 5,000
ot faam & =09 1,500
FROK fakasl F 907 a0 wE W 6,000

HRIv fasharal &1 FHivE, 396 fOm W 1%
mﬁ%maﬁmwrﬂmm%maﬁmﬁﬁaﬂwm%ammﬁaﬁwmsw

Jafy st IgAIfa fasht fFeafafad 9—
FRvR st - g9y fespisatell &t
(Counter Salés) (Traveling Salesman’s)
Rs. Rs.
(@ 80,000 10,000
(b) 1,20,000 15,000
(©) 1,40,000 20,000
Solution : Sales Overhead Budget '
Period .....cceenenenn
Estimated Sales 90,000 | 1,35,000 | 1,60,000
(A) Fixed Overheads :
Advertisement 2,500 | 2,500 | 2,500
Salaries of the Sales Department . 5,000 5,000 5,000
Expenses of Sales Department 1,500 1,500 1,500
Counter Salesman’s Salaries and D.A. 6,000 6,000 6,000
' Total 15,000 | 15,000 | 15,000
(B) Variable Overheads : '
Commission to Counter salesman ‘ 800 1,200 1,400
Travelling Salesman’s Commission - | 1,000 1,500 | 2,000
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Travelling Salesmen’s Expenses 500 750 1,000

Total 2,300 3,450 4,400
Total Sales Overheads (A) + (B) 17,300 | 18,450 | 19,400
Working Notes
N ﬁﬁmwmmﬁgmﬁﬁamwmﬁaﬁﬁaﬂﬁ
gt Pt fash! i s
Q) wRREFTR RN FAH TN B R AR E R
fore R 8—

80,000X —— = 800 TH; 1.20,000X —— = 1200 T,
100 100

1,40,000 X —— = 1,400 T73,-
100

(3) I fanarsii Y 27 FHYE 991 3% &R 63 T o3 Y 0T I BN )
farshl 274 10,000, 15,000 91 20,000 T T hAT: 10% 091 5% B T B
Ilustration 5. (Master Budget) U 78 $thaaf1 &ot 31y § Frefafaa g
J ot ad Wl 1 IR 9 SRS TEd 8—

Sales :

Toughened Glass Rs. 3,00,000

Bent Toughened Glass Rs. 5,00,000

Direct Materials Cost 60% of Sales

Direct Wages 20 workers @ Rs.150 per month
Factory Overheads :
Indirect Labour :

Works Manager Rs. 500 per month

Foreman Rs. 400 per month .

Stores and Spares 2.5% on Sales

Depreciation on Machinery Rs. 12,600

Light and Power Rs. 5,000

Repairs & Maintenance Rs. 8,000

Other Sundries 10% on direct wages
Administration, Selling and Dlstnbutxon Expenses Rs. 14,400 per year.
Solution : Master Budget

Period .......
L4 L4

Sales (as per Sales Budget) :

Toughened glass ..... units @ Rs ... 3,00,000
Bent toughened glass ..... units Rs. .....

(- Cost of Production (as per cost of production budget) : 5,00,000
Direct Materials 4,80,000| 8,00,000
Direct wages (20 x 150 x 12) 36,000

Prime Cost 5,16,000
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Factory Overheads : Ed
Variable :
Stores and Spares (2%% on sales) 20,000
Light and Power 5,000
Repairs & Maintenance 8,000( + 33,000
Fixed :
Works Manager’s Salary 6,000
Foreman's Salary 4,800
Depreciation 12,600
Sundries (10% on direct wages) 3,600| +27,000
(-) Works Cost 5,76,000
Gross Profit 2,24 000
(-) Administration, Selling and 14,000
Distribution Overheads
Net Profit 2,10,000
FIEIGR &9 (Flexible Budget)
Ilustration 6 : F=1 T% a4 2019 a4 ¥ fAT T HRE@M F §oeA ¥ Taf-gd §—
wrfed &9at 50%
(Capacity Worked 50%)
T ARTE (Fixed Cost) : 4
A (Salaries) 8,000
f&T A 4 T (Rent & Rates) 6,000
B (Depreciation) 7,000
21,000
yftadavfter AnTd (Variable Costs) : L4
|t (Materials) 20,000
s (Labour) 25,000
39 Y (Other Expenses) 30,000
75,000

o ¥ fafa= W) o Wt fash

Proposed sales at various levels of working are :

1T (Capacity) famt (Sales)

4

60% 1,00,000
80% 1,40,000
90% 1,60,000
100% 1,90,000
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RCIRGIERECIEY
Solution : Flexible Budget
(for the year, 2019)
Operating Capacity
Elements of Cost Present Budgeted
50% 60% 80% 90% 100%
(A) Variable Cost : k4 k4 L4 L4 i
Materials 20,000 24,000 32,000 36,000 40,000
Labour 25,000 30,000 40,000 45,000 50,000
Other Expenses 30,0000 36,000] 48,000 54,000 60,000
Total (A) 75,000 90,000 1,20,000| 1,35,000( 1,50,000
(B) Fixed Cost :
Salaries 8,000 8,000 8,000 8,000 8,000
Rent & Rates 6,000 6,000 6,000 6,000 6,000
Depreciation 7,000 7,000 7,000 7,000 7,000
Total (B) 21,000 21,000 21,000 21,000 21,000
Total Cost (A + B) 96,000| 1,11,000( 1,41,000| 1,56,000| 1,71,000
Profit (+) or Loss (=) -11,000f -1,0001 +4,000] + 19,000
Sales 1,00,000( 1,40,000| 1,60,000| 1,90,000
Notes to the Solutions : :
Capacity
60% 80% 90% 100%
(1) Materials 20,000 x 60 %20,000% 80 20,000 x 90 T20,000x 100
50 50 50 50
=324,000 =%32,000 =%36,000 =40,000
(2) Labour ¥25,000% 60 325,000 80 ¥25,000% 90 25,000 100
50 50 50 50
=%30,000 =%40,000 =%45,000 =%50,000
(3) Other Exps. 330,000 % 60 ¥30,000x 80 30,000 90 30,000 100
50 50 50 50
=336,000 =T48,000 =%54,000 =%60,000

Ilustration 7 : fF=fafaa g= Q AR F9e TR AR 60%,70% T 100%
e FeTeT W 3G B 1 qaiae <)

(1) TR 399 (Fixed Expenses) at 50% capacity : IH (salaries) 2 50,000; fotrn wd
T (Rent and Taxes) ? 40,000; ¥ (Depreciation) ¥ 60,000; SRTE% 549 (Administrative
Expenses) ¥70,000.

(2) dfiad =a4 (Variable Expenses) : WEl (Material) T 2,00,000; 5/ (Labour)
T 2,50,000; A (other) T 40,000.

(3) STSUREN =99 (Semi- Variable Expenses) : FUHd (Repair) T 1,00,000; 7q&l 54
(Indirect Labour) ¥ 1,50,000; 314 (Other) ¥ 90,000.



372 / =T favetwor wa frassor

Tg S oI T R O et | far s quEd @ Se-Radie =9
45% TE 60% &9 % 9 IRafia T8 317, 60% TE 75% &l & o g 20%ﬁqﬁy

g, ae faftea 5% @1 9fg AN I &t 75% IR H

g & faf= @) | ermifia fosh 59 wohR 23—

et (Capacity) 60% 70% 100%
fasmt (Sales) ¥ 11,00,000 13,00,000 17,00,000
Solution : Flexible Budget
Operating Capacity
- Elements of Cost Present Budgeted
50% 60% 70% 100%
(A) {Variable Cost : T t R L4
Materials 2,00,000|  2,40,000| 2,80,000] 4,00,000
Labour 2,50,000 3,00,000 3,50,000 5,00,000
Other 40,000 48,000 56,000 80,000
_Total (A)| 4,90,000f 5,88,000| 6,86,000f 9,80,000
(B) |Semi-Variable :
Repair 1,00,000 1,00,000 1,20,000 1,25,000
Indirect Labour 1,50,000 1,50,000 1,80,000 1,87,500
Other 90,000 90,000 1,08,000 1,12,500
Total (B)| 3,40,000] 3,40,000| 4,08,000f 4,25,000
(C) |Fixed expenses :
Salaries 50,000 50,000 50,000 50,000
Rent & Taxes 40,000 40,000 40,000 40,000
Depreciation 60,000 60,000 60,000 60,000
Administration Exp. 70,000 70,000 70,000 70,000
Total (C) 2,20,000 2,20,000 2,20,000 2,20,000
Totalof A+B+C| 10,50,000) 11,48,000{ 13,14,000] 16,25,000
Profit (+) Loss (-) —48,000] -14,000{ + 75,000
Sales 11,00,000{ 13,00,000] 17,00,000

Notes to the solution :
1. Semi-Variable Expenses at 60% will remain constant.
2. Semi-Variable Expenses at 70% level :
Repair = X 1,00,000 + 20,000 (20% of ¥ 1,00,000) =¥ 1,20,000
Indirect Labour-= ¥ 1,50,000 + 30,000 (20% of X 1,50,000) =¥ 1,80,000
Other = T 90,000 + 18,000 (20% of ¥ 90,000) = 1,08,000

3. Semi-Variable Expenses at 100% level :

" Repair = ¥ 1,00,000 + 25,000 (25% of ¥ 1,00,000) = T 1,25,000
Indirect labour = X 1,50,000 + 37,500 (25% of ¥ 1,50,000) = ¥ 1,87,500
Other = ¥ 90,000 + 22,500 (25% of ¥90,000) =% 1,12,500
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4. Variable Expenses :

Capacity
60% 70% 100%
Material 2,00,000 % 60 22,00,000x 70 2,00,000 % 100
50 50 50
=32,40,000 =%2,80,000 =%4,00,000
Labour %2,50,000 x 60 2,50,000x 70 2,50,000x 100
: 50 50 50
=%3,00,000 =%3,50,000 =%5,00,000
Other 340,000x 60 ¥40,000x 70 40,000x 100
50 50 50
=% 48,000 =% 56,000 =%80,000

Ilustration 8 : T% F¥ T AME IR ScIfGd Fat 21 M gohré st wmmd
frefafea R §— :

MWSF@;MW:i F@;qﬁaﬁﬂWﬂZmI

FE-aftadToiel T §—aTreay Wl 525 ©YR; I HW 340 T, IR T
TR 280 TIR .

FE-Radie =adi ¥ giinfaa Radeia arn 3 see Frafafas §—

9 TR 0.05 F99; ANAY FH (.08 T ST A4 HOHA 0.16 T

W AP @M 1,800 93 NG 3,200 T9; feprt & faawor 3,000 93

ITEH A 500 THEAT I FIA §, THFG &0 B 50% ¥ fere &) fomt 9o 32
93 Wi 5 1 ST H GerHdl B WErEdl W 60%, 80% ° 100% WA arwaRd & fag
AEER w9 S 53

Solution : Flexible Budget
Details Capacity Level
50% 60% 80% 100%
(500 Units) | (600 Units) | (800 Units) [ (1,000Units)

(A) Fixed Cost : (4 4 4 : 4
Factory Overheads 1,800 1,800 1,800 1,800
Admn. Overheads 3,200 3,200 3,200 3,200
Selling & Distribution 3,000 3,000 3,000 3,000
Overheads

. Total 8,000 8,000 8,000 8,000
(B) Variable Expenses :
Direct Materials @ ¥ 5 per 2,500 3,000 4,000 5,000
Unit
Direct Labour @ ¥ 3 per Unit 1,500 1,800 2,400 3,000
Variable Overheads @ ¥ 2 1,000 1,200 1,600 2,000
per Unit

Total 5,000 6,000 8,000 10,000
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(C) Semi-variable Costs :

Indirect Materials 525 530 540 550

Indirect Labour 340 348 364 380

Repair & Maintenance 280 296 328 360
Total 1,145 1,174 1,232 1,290

Total Cost (A) + (B) + (C) 14,145 15,174 17,232 19,290

Sales @ ¥ 32 per Unit 16,000 19,200 25,600 32,000
Profit 1,855 4,026 8,368 12,710

He—AE-TRadTea =i & T Feffafad S&R S T 8—

-l =2l 1 $9 9 foR } 0o 9 IRedTelien iedeie sm w @
ST @ € 21 3 wevem TE-uRadaeiel =5 A wftafed fer s o | SRdh—

S g | fer 9 %t @ =525~ (0.05x 500) =2 500

ey o9 H e 9r1 #Y WA= 340 (0.08% 500) = T 300

HEI T Ta W fer o @ @9 = 280- (0.16x 500) = T 200

T o TS FRa-TR % g rg-uRad i = % 0 @a freafaRaa R
4 T E—

Fixed + Variable
Indirect Materials =¥500 + Re.0.05 per unit
Indirect Labour =300 + Re.0.08 per unit
Maintenance & Repair =37200 + Re. 0.16 per unit

Ilustration 9 : 60% &9 & AU fFr=fafaa wrs) ! T[T & 80% a9 100% &9l
R IAEA & fo a2 TR T

Production at 60% activity 600 units
Materials T 100 p.u.
Labour T 40pau.
Expenses ¥ 10p.u.
Factory Expenses ¥ 40,000 (40% Fixed)
Administrative Expenses ¥ 30,000 (60% Fixed)
Solution : :
Flexible Budget
(for the year ending ......)
Capacity (Units)
Particulars 60% 80% 100%
(600) (800) - (1,000)
Variable Expenses :

Materials (X 100 p.u.) 60,000 80,000 1,00,000
Labour (T 40 p.u.) 24,000 32,000 40,000
Expenses (X 10 p.u.) 6,000 8,000 10,000
Factory expenses (T 40 p.u.) 24,000 32,000 40,000
Administrative Exp. (X 20 p.u) 12,000 16,000 20,000
Total (A) 1,26,000 1,68,000 2,10,000
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Fixed Expenses : :
40,000x 40 16,000 16,000 16,000
Factory Expenses T
Administrative Expenses ( 30,0:):0x 60] 18,000 18,000 18,000
' Total (B) 34,000 34,000 34,000
Total Cost (A + B) 1,60,000 2,02,000 2,44,000
Working Notes :
* Calculation of Factory Exp. (Variable) p.u.
40,000~ [M) Fixed = 40,000 — 16,000 = 24,000+ 600= 40 p.u.

** Calculation of Administrative Exp. (Variable) per unit

30,000~ (w) Fixed = 30,000 — 18,000 = 12,000+ 600 =X 20 p.u.
Ilustration 10 : TF FRE@M J 10,000 A & IO & faC =9 f4 woR &3
™ R
Per Unit
4
Materials 70
Labour ’ 25
Variable Overheads 20
Fixed Overheads (X 1,00,000) 10
Variable Expenses (Direct) 5
Selling Expenses (10% Fixed) 13
Distribution Expenses (20% Fixed) 7
Administrative Expenses (X 50,000) 5

Total Cost (p.u.) T 155

(i) 8,000 TH1EA, T (ii) 6,000 THEA & Y I F o1 TR HT
7g 9 & fF yoafe =g it T W e

Solution : Flexible Budget
(for the period ........... )
Particulars Levels of Operation
8,000 6,000
Units Units
. 4 R
Variable Expenses :

Materials (¥ 70 p.u.) 5,60,000 4,20,000

Labour (T 25 p.u.) 2,00,000 1,50,000

Direct expenses (T 5 p.u.) 40,000 30,000




376 / @TTa fayeraor wd fram=mr

Variable Overhead (Y 20 p.u.) 1,60,000 1,20,000
Total (A) ~ 9,60,000 7,20,000
Fixed Overheads 1,00,000 1,00,000
Administrative Expenses 50,000 50,000
Total (B) 1,50,000 1,50,000
Semi-variable Expenses :

Selling Expens&c Fixed 10% of 1,30,000 13,000 13,000
Variable” (2 11.7 p.u.) 93,600 70,200
Dlstrlbutlon Exp. : Fixed 20% of 70, 000 14,000 14,000
Variable™ (25.6 p.u.) 44,800] - 33,600
Total (C) 1,65,400 1,30,800
Total Cost (A + B + C) 12,75,400 10,00,800

Working Notes : ' '

(i) Calculation of Variable Selling Expenses p.u. :
10,000 13 = 1,30,000- 10% Fixed Expenses =¥ 1,17 000
p.u.=1,17,000 + 10,000 = 11.7
(ii) Calculation of Variable Distribution Expenses :
10,000 7 = 70,000— 20% Fixed Expenses
= 70,000—14,000=T 56,000
p.u. = 56,000 + 10,000 =% 5.6
Tllustration 11 : T W We Fo 1 2018-2019 T8 % A 50% FIH &HA T
fepra 3l Tl % qEiqAF Q frefefaa sl Saemy § F foppg R W AeER a9 %

eqq ¥ Tk a1 [EiAF faat 4R #ifi—
Capacity level Units Selling Price ()
60% 6,000 25
75% 7,500 25
90% 9,000
100% 10,000

77 WA i fF Rer =g Saed ok fiorg ¥ w9 w0 W W w® &
HE-aftardeitel =79 50% Q 65% ST % & Iuftad-ta @ g 65% 3R 80% &
o= 10% @ q91 80% 3R 100% &5 & i 30% 1371 90% &R T el o 5% @ sgat
? ik fosha gea 5% § 72 ¥ 100% &R R areh i o 9 i 10% W st € 9k
fora Te 8% @ Wl R

Variable Expenses :
Material @ T 5 per unit
Labour @ T 2 per unit
Direct Expenses @ T 1 per unit
Semi-variable Expenses ¥50,000

Fixed Expenses 50,000
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FIIAIC §IMT (Flexible Budget)
8. ad 2019 % ford =7 & yaigum o fA W —
Expeiises Capacity worked at 50%
Fixed Expenses : 4 4
Management Salaries 2,10,000
Rent and Taxes 1,40,000
Depreciation of Plant 1,75,000
Sundry Office Expenses 2,22,500 7,47,500
Semi-variable Expenses :
Plant Maintenance 62,500
Indirect Labour 2,47,500
Salesman’s Salaries 72,500
Sundry Expenses ' 65,000 4,47,500
Variable Expenses :
Materials 6,00,000
Labour 6,40,000
Sales Expenses 95,000 13,35,000
Total _25,30,000
+ Sfafter geATd FAifRd TER Sqees 24—

(i) for = SR % ot w1 W A @ 2
(ii) St~ TRl A 40% & 70% wwn 7% viania T O &, 70% ¥ 85% &
I 10% F1 qha it 9o 85% R 100% &9a1 T 3T 15% F gfg ot
(iii ) TfadTefer =l ¥ Jeqre e % U ¥ wfEda g 21
(iv) 60%, 80% &1 100% &rareti W famm & qaique saa: 25,50,000 T, 35,00,000
THR a9l 42,50,000 TR F AW 1 T
I IS F AR W 60%, 80% TG 100% &Tarsl % A d=qul sore daR
Ffal )
Ans. Loss at 60%= T (-) 2,47,000; Profit at 80%= ¥ 1,24,250 and athO%capaclty-
T(+) 3,17,875.
9. 60,000 3FE % AT WX W T& FH & AN T fasht &1 g iy wavm @—

4
Sales 1,50,000
Raw Materials 66,000
Labour 33,000
Semi-Variable Overheads 30,000
Fixed Overheads 11,000
Profit 10,000

- vadRite =l ¥ fer are 12,000 792 1 afs v 10,000 TR F @0 & adqH
TR TR T IR D 1,10,000 T F INEA TR W I W S 5 79 7
freaff wem wfed?

(Answer : Selling Price per unit ?2.25)
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10. T HE & GRaniam ¥ @ WU R Frivh suftera & wifgs a9i2 f wer 99—

Capacity
Budgeted Production (Units)

Wages
Consumable Stores
Maintenance
Power and Fuel
Depreciation
Insurance

ST TG B—

60% 100%
600 1,000
z z

1,200 2,000
900 1,500
1,100 1,500
1,600 2,000
4,000 4,000
1,000 1,000
9,800 12,000

(31) FR- 92 fer, siadTeia @@ erfadwia 2,

() 80% &1 W & o R Hvrd, 3k

() 60%, 80% = 100% & R 3fa 3o Fa Fmivh sufisgs I #fad)
(Answer : (a) Depreciation and Insurance are fixed items, wages and consumable
stores variable and Power and Fuel and Depreciation semi-variable (b) Total Cost at
80% Capacity ¥10,900 (c) At 60%T 16.33, At 80% 13.625 and at 100% ¥ 12)

11. = 2019 F 799 AR F fFA 60% s R =@ & q@iTEH N A ™

¥ in Lakhs
Expenses Capacity Worked 60%
Semi-Variable : '
Maintenance & Repairs 1.25
Indirect Labour 5.00
Sales Department Expenses 1.50
Sundry Overheads 1.25 9.00
Variable Expenses :
Materials 12.00
Labour 13.00
Oiliet Expenses 2.00 27.00
| Fixed Expenses :
Wages & Salaries 420
Rent] Rates & Taxes 2.80
Depreciation 3.50
Sundry Overheads 4.50 15.00
Total 51.00
= g Frefafan yaR o —
(i) feor =g welt W W w9H @ &

(i) HE-TFEdTRia AR 55% Q 75% & R WO @Rt &, 75% A 90% &l | ST
10% ®! gfg 2t & T 90% A 100% &wal W 37 20% Ft & T R
(iii ) 70%, 85% 91 100% &mans? R fas! &% q@faH wau: 50 @rd, 60 €@ wd 85 o

T ¥ @ Y #)
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TR AF F YR T 70%, 85% T 100% ST &warsh ¥ fore wlrayut awe dam
Hifg

Ans. Loss at 70% capacity = 5.5 Lakhs and at 85% capacity = 3.15 Lakhs; Profit at
100% capacity = ¥ 14,20 Lakhs.

12, SO%WﬁWWWWMwmommaﬁzm%nﬁ%m

T =g Ry ) d—

Weae |t 15 ¥ ufa g3
WaY oM 10 39 %fq =
FREF ufed (30% feax) _ 5 ¥99 ufd g
FrateE 3R (60% TRad=eia) 3 o9 Wfd i
g wa faawor sufiemg (50% fem) 2 799 %fa =R
fasa o 45 T 9fa 3R

60% &mar 3R 90% &l T T ool FIR H
(Answer : At 60%, Profit T 2,63,000; At 90%, Profit ¥ 4,68,500)

13. ofy fafirs v Frefafes e wem Fed 8—

I &l ( Production Capacity) : 80% 60%
WY (@@ F9) ([Costs (¥ Lakhs)]) :

g arnit (Direct Materials) 16.00 12.00
9y 99 (Direct Labour) 12.00 9.00
N8y =4 (Direct Expenses) 8.00 6.00
B (Depreciation) 4.00 4.00
I (Salaries) 2.00 2.00
wfe (Power) 4.00 3.80
[ Td A&V (Repair and Maintenance) 2.50 2.40
foska (Sales) 52.00 39.00
50% W& 90% &9 % fag awe dar i

Ans. Total Cost : At 50% capacity T 34.55 Lakh and At 90% capacity T 53.15 Lakh;
Loss at 50% capacity T 2.05 Lakh and Profit at 90% capacity T 5.35 Lakh.
14, 2 < TR I A 60% 3K 80% WAl W FEER, T HAR FHR—
60% T0ar  75% {HAT  80% AT

L' 8 4 m |
yfEdeie Sufieaq :
Sy qrt — 7,500 —
ATY HqY —_ 22,500 —
g -vitadeiier 3ufteqm . '
fastett (40% fem, 60% ufadeiia) — 37,500 —
T 3R EEE — 3,750 —
(80% feat, 20% uftadeiia)
fer 3Iuftemm

¥ — 1,00,000 —
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15.

st — 5,000 —
B — 25,000 —
S s TSl —75% SHAT W 40,250 TR

(Answer : Total cost at 60% ¥ 2,22,800; at 75% ¥ 2,41,500; at 80% ¥ 2,47,733, Total
Overhead Rate at 60% 592%, at 75% 500% and at 80% 477%)

e At 100% &A1 W UF A1 ¥ T IR 1 4,000 $HEE I T 3 A
F) g @ Fra Al wa ) T —
August 2019  September 2019

faftfa gaTgal (Units Produced) 2,800 3,600
(4 (4
TOHA Ud @@E (Repair and Maintenance) 500 560
R (Power) 1,800 2,000
WY 59 (Shop Labour) 700 900
IYNTg WY (Consumable Stores) 1,400 1,800
AaF (Salaries) 1,000 1,000
1891 (Inspection) 200 - 240
%9 (Depreciation) 1,400 1,400

IARA F ST 10 1Al Wi 9w 21 weaes Il F A 1 €99 Wi g aon Seaat weed
4 T3 wfa w2 B '

60%, 80% T 100% &1 W €K a9 15U

Ans. Total Cost : At 60% capacity T 9,910; At 80% capacity T 11,930; At 100%
capacity ¥ 13,950; Cost per unit : At 60% capacity T4.13, At 80% capacity ¥3.73 and
At 100% capacity ¥ 3.49.

16. 10,000 9@ ¥ fmiw & fad seie @+ Fretag —

Direct Materials T 60 per unit
Direct Labour T 30 per unit
Variable Overhead T 25 per unit
Fixed Overhead (R 1,50,000) T 15 per unit
Variable Expenses {(direct) T 5 per unit
Selling Expenses (10% fixed) : ' T 15 per unit
Administrative Expenses (X 50,000 rigid for all levels of production) ’ T 5 per unit
Distribution Expenses (20% fixed) T 5 per unit

Total T 160 per unit

17.

Hiwia A § T AT Sl T NS W g2 6,000, 7,000 9 8,000 @ ¥ fmiu
o a1 TFFA -
(Answer: MC: ¥8,25,000, 9,62,500, 11,00,000

T.C.: ?1050,000 ¥11,87,500 ¥ 13,25,000)
TH 4 Th WM SIS SIGd Hdt 1 Wi b1 S @ Friifed TeR €—
Fodl Gl 4 T; Neaw o 2 o9 TRadaeie o 5 T
- IRadTvie R F— 3T Gl 235 €99; ITIEW A9 156 T; XV G TR
570 ¥R
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Months Sales Materials ~ Wages Overheads
4 L4 L4 L4
January 20,000 20,000 4,000 4,000
February 22,000 14,000 4,400 4,200
March 28,000 14,000 4,600 5,300
April 36,000 22,000 4,600 4,500
May 30,000 20,000 4,000 4,700
June 40,000 25,000 5,000 4,800

21.

(@)

k) qam@ (Further Informations)—
1. 1 S0 ) Asbg w11 T 10,000 Ri SYR W 20,000 = Toh 14t 790 o @ Foraed
PaF 2 99 fewl § o 9 ofid A € R
2. o o W 5% faswa Fitym arafas it & 3tk o1g 9@ "e & < 31 B
3. fgia ara # 0fe T A Ara € | 21 T 2,000 =1 39 sifim R il 9o %
a9 W 2
4. oget 3 Prad @t wd

(i) SERY 1 W&H JUR FaH—2 g

(i) TE® B § T IR Efa—2 W

(iii) Ay A F Pram ¥ faera—1 A

(iv) 7ot & ram ¥ faea—1/2 W
5. T foshl F1 50% 9R fass! 71 )
(Ans. Closing Balance of Cash : Jan. : ¥ 18,000, Feb. : ¥ 29, 800 March : X 27,000,

April : ¥ 24,700, May : 33,100, June : X 36,100)

fg $R o A Frefafia faator wem Rl @1 soent 31 feamar 2019 # ¥ @
9 9 "% & ) U%s woie dar & 21
Months Sales Materials Wages Overheads
k¢ 4 4 4
August 20,000 10,200 . 3,800 1,900
September 21,000 10,000 3,800 2,100
October 23,000 9,800 4,000 2,300
November 25,000 10,000 4,200 2,400
December 30,000 10,800 4,500 2,500
(b) SUR & §—
R — 10% e fara 81 38R faHg &1 50% 7 9§ w@ A9 I/
wE TG Bt R
ARR — |t 2 9%
— qogh 1/5 WE
—39f=1g 1/2 Wi

(c) 1 3= 2019 = T 8,000 UFg ¥ Werd 71 -

(d) T 1,00,000 &t SFTA I WG 30T 2019 ¥ w=ifya B0l sTaar | 5,000 &t wfas
fFwa 27 1

(e) ¥ 3,00,000 Ft (@ifamR i gt W 1 fG@mr 2019 H 10% F R A9 F PH
feran SmTm
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(f) a7 & fasha =g fawmr ¥ ¥20,000 7w A wra &
(g) feawr ¥ 5,000 s (@) YA fhar w1 21
(Answer : Closing Balance : Oct. ¥ 7,390, Nov. ¥ 8,180, Dec. ¥ 3,910 (0.D))

22, ﬁwm@mmm@mmﬂw Farat a1 i@ 2019 % fod THw

fAo #1 TF NFHT TR TR FHfA—
Months Sales Purchases Wages Expenses
4 4 L4 T
July (Actual) 40,000 20,000 10,000 2,000
August (Actual) 40,000 20,000 9,000 3,000
Sept. (Actual) 35,000 21,000 11,000 . 3,000
Oct. (Budgeted) 45,000 25,000 12,000 4,000
Nov. (Budgeted) 42,000 22,000 10,000 3,000
Dec. (Budgeted) 40,000 18,000 9,000 4,000
IR e gE @ T ¥ fm—

23.

(i) 58 &1 10% a9 fiska 61 20% &S B
(ii) woR @ i eh sty 112 W%ammmmwmwmmm
S 1
(il ) Ao 1/2 WTE W YT H A6 @ q9n fRTEn 2 1,000 S @S ¥ wie @ mis
T feran S R
(iv) @ T 9% 91€ e fmd s 2
(v)1 st ) A&g iR d 9 78,000 a1 3 w7+ ¥ W TE F 3= A T 8,000 A
% (AfFA T 7,000 A w9 7€) W@ dredt 21 i Awng T 1,000 3 7otk A TRl s
A TEd R
(Answer : F.D. in Oct. ¥ 6,000; Nov. ¥ 3,000; Dec. ¥ 7,000,

Closing Balance : Oct. ¥ 7,100; Nov. ¥ 7,600; Dec. T 7,300)
T T HIEl | A 2019 @ w1 oW F @ {1 vauE! Y @ §S @) sraen w1
2 am Frive g & R 250,000 M w70 &% H W % @ 212019 ¥ Wew 6 WA
¥ wa-foshg & qafgae (S i wf T® w9 w9 @ faaifs @) fo ser ¥ —

L4

Sales 6,00,000

Purchases of Raw Material 1,20,000

Manufacturing Expenses 72,000

Administrative Expenses 48,000

Selling Expenses 30,000

Salary and Wages 90,000

I 92l F MUR W T 91 g2 foh 9 -2 T A Rl o &, S A S A 6

e # @y F o) AFg aeie dar =i
(Answer : Closing Balance : Jan. ¥ 90,000, Feb. ¥ 1,30,000, March ¥ 1,70,000; April
22,10,000; May ¥ 2,50,000; June ¥ 2,90,000)
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24, urd A 3T 2019 F 4R * ford TAY A o719 7 o7 F qAEA FrE E—

Months Sales Purchases
(All Credit) (All Credit)

? ?

March 60,000 36,000
April 62,000 38,000
May 64,000 33,000
June 58,000 35,000
July 56,000 39,000
August 60,000 34,000

s e g ol @ e §—

Wages

4
9,000
8,000

10,000
8,500
9,500
8,000

Mfg. Exps

4
4,000
3,000
4,500
3,500
4,000
3,000

Office

Exps.

L4
2,000
1,500
2,500
2,000
1,000
1,500

Selling

Exps.

4
4,000
5,000
4,500
3,500
4,500
4,500

(1) 216,000 F AT H1 U JoA ¥ G F fad & fowa 10% gt w s dm 3

TR v, 24 B

(%) Ffim T F T 8,000 = forea ww wrd A o gud 9@ A7
() Wit A IS A 2 HIE U MEH) ! T W€ H IO S 2

() IQRA = F YA % e 98 27 B §

(7) 317 =98 %1 WA | 9 9% 2 o 2
a9 1 7 2019 A YO ST 3 WE F fad Vavg 9912 TR 98 Safs Vg a1 T

8,000 it

(Answer : Cash Balance on 3 1st July 2019 = ¥ 18,400)
. 25, Prifea g 1 A A 305 7% H ey & fadl Jwg woR FWFN |

L4
16,000
16,800
16,600
16,600
15,200
13,600

Wages

T
3,000
3,200
3,360
2,400
3,600
3,200

Exp.

L4
2,000
2,200
1,600
2,100
2,400
1,920

Factory = Adm. Exp.

4
1,000
1,100

900

950
1,080
1,140

1. W@mﬁﬂmﬁmﬁ@mﬁaﬁﬁnﬁmﬁmwmén

%l ARfE UsHs W9 T 4,000 91—
Months Sales Selling Exp. Purchases
L4 4

January 34,000 1,400
February 32,000 1,500
March 36400 1300
April 31,000 1,360
May © 33,000 1,480
June - 40,000 1,400

srfaftes gorma—

2. 999 faea—

(37) "Gl 1/8 W,

(9) G =4 | 1E,
(]) wEF =49 | e,

(%) fomg =@ | W,

3. w9 ¥ 710,000 N TEHA w9 B W N GLEH W G R
4, stie ¥ T 30,0009 W 4 fF r FoEeht e e fhvdl ¥ 0 ot o3 ¥

w0 R

5. faml ¥ us WIR 9 IW W 5% HHIF o e
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(Answer : April May June

Receipts () 20,400 46,660 38,650
Payments (%) 24,740 41,010 40,060
Closing Balance (?) + 15,660 + 5,650 (-) 1,410)

26, F=9 G & oK W opid 2019 | WOV ¥R 9 B: 9% & fold A woe daR
HTA—

(i) It aifee fast et wem @—
3 _ T
January 1,00,000 June 80,000
February 1,20,000 July 1,00,000
March 1,40,000 August 80,000
April ' 80,000 September 60,000
May 60,000 October , 1,00,000
(ii) T 3R A Firet AR 27 FgEtE T
4 4
April 9,000 July 10,000
May 8,000 August 9,000
June 10,000 September ' 9,000

(m)ﬁaﬁmsmmeﬁtzo%méimﬁaﬁmﬁ%fm%mﬂaﬂzmm
T g ¥ e g
(iv) 73 fawa =1 80% o ? Rl faa A weat W ¥ fran aik g s 2
(v) &H 9 J@E 2019 ¥ 4w F F1T 5,000 TIHA H 2
(vi) ®H 3 ¥ 1,20,000 F 10% Forgs friftm 6l € o ot sad/atie ot 3l war
formt =ar § S @
(vii) 1 3 2019 F ¥F 1 g T ¥ 20,000 41 S AFT A F1 TAH G017 W er
TR FIAR T anfvE/ad v W % o= A orer fEdn s ftEe &
FeHltarur A1 STUTE SUR % w9 ¥ gurdfon fRa e 2
(Answer : April May June Jely Aug. Sept.
Total Receipts 1,12,000 84,000 96,000 1,1»,000 1,04,080 84,000
(Including op. balance)

Total Cash Payments +
Min.Cash Balance of 220,000 80,000 92,000 1,10,000 1,02,000 77,000 1,09,600

Surplus (Deficit) 32,000 (8,000) (14,000) 4,000 27,000 (25,000)
Temporary Investments (32,0000 — —  (15000) (27,0000 —
Liquidation of Investment —_ 4,000 14,000 — — 25,000
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(v) 38 YR & FHefur & EEiaE Aifd & fuiRe § Sl ved o

aiiferea st w1 B oy efhers & 3 01 B AavEH F—

(i) E-g&e! &1 Yo Td SHaefis 99 O ST 8

(ii) I6H! qEE & T ¥ foRiy agie 39 |

(iii) 39 IR B A ITF FREF! Fl SHAEIE FEATTA F T80 AR (Insight)
1 B ot STavae 8
SIRIGE a%am & o (Advantages of Cost Audit)

TP el S Esl Ud safaad), S—waER, A it =it
ﬁ,?ﬁ@mﬁaﬁmmwm%uqﬁww@ﬁwmﬂﬁm
Tgadl 8 —
(1) WEETeh! el TS (Advantages to Managers)

1. TG 3feheror A e H IR ¥ 7 dael gia G & afrg oo IR W
i w1 T § % T8 NSRSl 1 O T SER 9 F N Naruw] ) geraa 2

2.;&@1%%&&«%%%%%%%%%@%%
M F 2

3. 9T Seheor A 94 & o7 N HiF-Afia o wd i =i @ fafas @l W g
oA § T e &1

4. AT STheT] Y TEEAl ¥ WU AR, H° UE 37 W ¥R & Iufegdl W
oE FrEse w9 § 7 dae 9ud @ 9@ ¢, 9o Sid & A ¥ FE @ oW

5. 5l FEA 10 39sH U I (Tenders and Quotation) ¥9H €14 &, & o
sieE qou-FreRer A e+ #)

6. ook IS O ) FRfE S A H6 69 "% § S0 €, Fke ara
Fiherur & SR i i A SiHers ¥ YeddM gaE U gyd w8 @ gl

7. Vgl @ fy wHERE) o SRR SHEITRE R S FEE @ S 2

8. AT 3ThETUT ht Tl V Youw 4ifd, Sisd, 90, FUE & FHEIE! T ARang!
W e ek & Hha B _

9. Yargd! ) IR H I THEA W FTHER o S 21 wRemTEEy § 39
TR e o 3 TR A W Ifaw eF R wed B

10. 9P TS A9 g1 faapl % rdvaa v et &1 99 0 @
mﬁmmﬁqmmm%mmmaﬁmma '

|

11. SeF5eh! i qg STNEEA W< & 9 € 6 9 o R @ fafe g &
T W ® €, 3w 2, 94y | dnen w g Fafon § e €t g w5 warA
Yare & T oga Yegar fug o 2

12. o4k W1 3THefU] ! TEar A 59 <1 i §i9 6L Tehd & 5 S o s
aﬁma%mw%mmmm%?mq@mmﬁmmmw
- el &1

(n)ﬁlﬁ'q‘laaraﬁaﬁm (Advantages to Investors)

1. TG SR B I B v P # 98 favarg @ @ s N fufa-fago
IS THA @ T 2, 9% 3% 81 IRUTHEEY 3 9% I & 9 & 6w § st
fafrm s wwe W a1 =)
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2oft ¥ € A $8 WHR wrTa et H feafa W worh sifafray, 2013 W gra 148 F
T e H gfF, e, A sfada i 39 u ¥ @ ¢ Sawm & ey B
ETF B

Fe AfafEm, 2013 B sl ave Sihaw B vy § Frefifaa saem §—

1) | wg @ (To Keep Cost Accounts)

FRURZ w1 TG ) AfgE A% 30 S, 2014 & gH: woifea sfergem fAis
3] =, 2014 B AR Fo afbfEE, 2013 G0 148 F IR (1) B =00 A
Foafe (R fadet Fet o wiftre &) < fafiifeee el @ Saew & dom o1 Qa1 oA
mﬁﬁwﬂ% o ik frad faw o & et 38wl 3 o Jastl @ A el

it Fg 1 3G 3fes A, Y I drEn il A T fraal 9 e 9 | ey
CRA-IﬁT@ﬂT‘é"ﬂI

m14s$whwwwﬁ%mm%mmf‘af@am
(Qualifications) freifta =t = g—

1. ETa W@ (Cost and Works Accountant Act, 1959 & 3Fwid), Td

2. TRITYL A% FRE THS=H % 3vea (ICA1) ER IR FT0-TR 1 G|

T SHeTF T AT SGiheh 9a1 Th AId Saihed 1 (FH ¥ HH & TRER)
1 Th THER B e 2

Fafy ifta Sraiwal #t FH il w@e @ e =sia TR 6 @it e @ s 6
3?1? AT, 1959 (Cost and Works Accountant Act, 1959) & NagRI & TER &1

1

(1) T A T STERETTT (Audit of Cost Accounts)

FRURE S A B AfgE fGAw 30 9, 2014 a9 wRfaa sftRgE 31
e, 2014 & Irita W Ho (o efverE otk ovan whan) Frag,2014 & sata 0%
WaEA § 6 A gl 1 fraet Ted (Net Worth) 2 500 930rg 41 36@ e a1 Sae! fady
IaE 91 o HRER T 100 HAY 91 i & @ AP @ TAET (Cost Audit) @R €

(111)W?1‘@T@%uw=a"rﬁm (Rules relating to keeping the Cost Accounts)

S fo Iude fag (1) & Srmia samn T @ e et arfafra, 2013 1 o 148
% Fria 3 wAfEl o e Tl % saRd § e a1 S e w3 ¥ a2, e
diw froa ad ¥ o TR T 35 =0 A At & 32 @ Afer@ SeY CRA-1 &
a9 @ @A B

aAVv) drRTtd 37%&1'&7 'ﬂ'ﬂ'ﬁ'ﬁ'ﬁa (Appointment of Cost Auditor)

FoH (e e SR wran wien) Fem, 2014 (HagEe s 30 5[, 2014) @
o 6 g1 Ty 0 g @ S 1 3, 2014 @ WO € At forra ad @ @ 2, T q&
g fr ¥—

(i) T fAfrad ¥ @ SR el s we fod ad o 8 $ 180 faw ¥
AT SiheT Wi PR SO

(ii) ST ke Y I9H Frgfm N g T

(i) A Yo fora =g Frafr M 7 €, 3 e i 1 erafy A fodg o w1
Q180 7 %t emafa ¥ (M ot 7w Q) B TWER ) o B9 & oy gy CRA-2
frafe = g e-file § M
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9. fafs=1 snel, Syl W whrael W 52 =l 1 oran ) Td 3fad §9 § @
2 3o 78 ?

10. IUR=T & dean & GG & gy § i 9 98 giifee e 9 fe sean
1 YR & T =riifaa € iR faf= aef ¥ uw wam w R
(V) 4T g &t Wyt (Questionnaire of Depreciation)

1. T T T g & @ Y- W@ W € 3R ST sue wreeg F gegof
ot &, S—arma, %9 9 aiia, 98§ w67 B T gl T e 3 # ) @2

2. ¥ g9 B9 H 9 fafe sy i @ S e afaf 9 um 123 @ g
frenfea #1770 27

3w Y & o N qea gy ol fafv= fawmi & fawem ¢d o fwifta sfowm & smeR
W ferar ma @ 2

4. 51 {399 §9 § @i T 998 W AR TR 99 ¥ 6 4 @1 S € 2

5. 0 @ie T Al @ fore fupTeR st e 35 @ STER o @R E 2

6. 591 T 4 N 7 7ea fopra ) T wie we e B o S e R A @ M #2

7. 71 o wie W@ T o T oY § Crjeaied fea T g ?

8. 1 T Gl H A T ol B favee sfuq R W e € 2

(V)S!ﬁ-ﬁﬁfﬂwaﬁm(Questionnaire of Semi-manufactured Goods)

1. 71 1@ Ffifa el & e N Suerd & sizan @ fagrd % s fear man @ 2

2. sig-fafida w1 o1 el Rt e St W feem @ fag siftngeem an sages @
& fewan w21

3. 71 Suiema) & fafvu= el w1 deam S s A femma 2 2

4. 791 IYRETA & sean & YR B T AW N TF G € @1 ™R ?

5. 71 Fr@-Ffifa At 1 g9 AAR A B SIE A S G@ ST« T @ 2

(Vl)‘{a?h{éi' ﬁ'ﬂ'ﬁiﬁm(Quesﬁonnain of Stores and Spares Parts)

1. 7 R e vl ) wifie, e @t e Y st ea @ R E 2

2. 7 RN v O & ey W Sugea e, ﬁi:—:—maw e @ A @
JOHA, 96 &) T0Ha 1 e e 2

3.wﬁﬁw@d@@qﬁmmmwwmw%®qﬁm
fafor= o6 & 9aF 9§ 9 ™R 2

4. 7 W w1 &4, 9K W gg- e S o1 v 3fea w9 9 e s @ sveren @ 2

5. 1 HREFT FI9 NEH T & I 559, SA—heed, Me-wre1, it ok i
afe ©rd v gd @ g ¥ ofnfaa R A ® 2

6. ¥ VY td Wad & A (F10H 1@ W6 S [ & I 69 & od & faad fea
T ?

7. 71 R e W %1 ifaw gened e o 2

8. Bl wd O & 9 7 Yo § a8 T 8 @ F1 S rufafEa e figa
T ?
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AT 3{HEIUT shit FUTE T YT (Specimen of Cost Audit’s Report)

Y&y : WLaTRw,.-3
[t seita ( @TTe ifrera W orar ) Fram, 2014 & (Fram 6(4) & Srgaeor )]

AN o U &1 yey

IR 77 1. S Fu eAfafm, 2013 (2013 1 18) Fi
GRT 148(3) T ST, (TR B M) oot nesessesasssonsss s e
TAEIHT BT ..o (Ft & {EGa FEET F T H I
H) (R 790 3o Tvar HE Hel T R) & A S@rsdeE fged 8 @ a1
G127 1 S (faita ad o1 Seor@ 1) & foae So e 6t qr@
148 3 THH 37 I T FEA AT oo, (SARAFS & T #
Ierd ) B e § FEA E0 @ T I 9 IR # orar-wae w1 81 v 2 ¥
Ifeetfiga A/ 28 qon gad @ AfaRea R e € 2

(i) TR/ERAN/EIR THHR AR fava & SER g S 3R fyeo wa
TYAH g € S 6 T s & I & A srevas A

(i) TRVEAR} T B SR FEE geieE @ fam, 2014 (A fierd i o)
% fam 5 % IgER fifde sadi/Aael @ fawg ¥ Fw gra Sfa ame Afeea dar
AT/ T AT

(i) TRVEHA 9 % AR WFER F0 Fyw T S 1§ wEell /@ ara
AETIE # IR A I wfae 3@ & T/AE g

(iv) RVETd 19 F IR 3R e IFEh $ FIER IH gEe iR
arfirera wegt rfafram, 2013 BRI Sfi o1 oTferd &0 A SRR R 1

(v) TRyear8 T & AR we § @ fawtel @t stiafts e =t 3t
m%éqﬁ%ﬁhﬁiﬁqﬁqﬁ$mmﬁwﬁwﬁaﬂtm%aﬁm
v 2

(vi) FY/EH T & STIER 79 Ar[ RO & Suee § @ 1 ge 9 fage Iar
(IORY) & SarRvAS (Jael) & gude fpn w @rm, ol sk fife e
(g3 e ([l /A wEtEa o gI T 3R T ga 3 21

(vii) BTN BRI F g, ¥ T T T T I FE @ STEiA Swne/Aa
% erg  faq SHE-aR 991 SAR/Ad] aR N F9H a9 SEgfedl w1 wee ¥
Ta/

2. AT A@ade Q Yrsi-ad AN Sragerk #1 Wi iR gwE, 3 51 @

aE A e /R o / ="

TATT SFEATEe ( SrEaagasT )
= g 3 g
WEETar W&

ﬂ?&'ﬁ!ﬁ YUY (Theoretical Questions)

= aﬁmg ITAT U (Very Short Answer Type Questions)
1. 9T SiderT A 7 31w 2
2. AT SRV & Hi 2 I fafaal
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3. Tif sishero Q 1 I 2 2
4. 3 U A forg wargd Foreh Tra-g A sichersh ! Hout SfUfEm # O 143 S

sl Sira-vgae &6 Bt 21

=

AR

i

5. 9ftea ey & < AW At

6. AT Shequ 1 FH FRd foa o g © 2

7. ANTA I P &) TEe] TS|

8. AV SheTE Y Wfede frma 2@ R ?

9. TTq Sihereh H ArGAd FE ?

10. AN SfDerF B hIE Q) T AaRd|

E’HWW(Shon Answer Type Questions)

1. ‘AT ST Q Y T TR ¢ 2

2. fadia ey we A S ¥ T R FiA

3. ‘lifaeq sisheror W Gy feoqen fafed

4. HRTETI BT H) THA| :
5. gt SAfafEy, 2013aﬁum14si‘whwﬂauméwﬁuaﬁéaaﬁ

6. fadita sidevr wd yfier (rm) ihevT § Y@ <R Fa5al

7. AN e ® w9 H P R 91 9 Sl | sErga Sagd)

8. SRRl it W & ey | A Shen F fF wml B 3@ i 2

9. 9T e H Frgfa w7 whear & 2 o e whwaﬁwsﬁl
10. Frefafea ey #1 3TEn Tagi—

(i) CRA-1, (ii) CRA-2, (iii) CRA-3, (iv) CRA-4

& Iy (Long Answer Type Questions)

1. APE g 1 Rwm ) fadia sihe ©& arm siderer § SR qHagal

#o faftre <mel & av |kl & Py & grery ¥ ST Afhfem @ SEE sl

2. TV BV Y FEA ¥ 2 AN IhE0T @ INE T 1 AR
3. amaeaa‘»mw% ? 7 Qi e | fFa R i 2 2 599 Q) el |

i S|

4. TF AN JhEE ® ®Y Y mﬁﬂmwmmaﬁﬁ—
(i) TP TR, (ii) 51, (jii) SIRETT W@ (iv) B ws W)
5. fr1 TR eI —
(i) AT SieheTur W foarity Sihetvl, (i) R Sy Td ifae e
6. AT SihETh GR Iega fhd 91 9/ wfaded 1wy iy
: e00
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(vi) YOTY R H TEAD .............. B T A TE @] D el 21

(vii) Freifi s T AveTe Wer W € R &1 g F I 2

(IT-(i) gd freifiq, (i) Wi arm vsfa, (i) e 3R @it (iv) et
T, S WY, A WA SR STaREd WA, (v) e gftafda R, (vi) 91 demned,
(vii) arIfae AFEY) -

3. G I YA (Select the correct answer)-

(i) STY YT A g 8—

(&) =@ A w1 fveeE (9) ¥R R 1 e

(\) =<E arm w1 Ffvea sem

(if) Y = T &l 2 —

(1) HYEd B 7Y A (9) T &8 A A
(V) Yoo Frifaa w3 A

(iii) 3R arq wfya R e 8—

CIEGE: KRS (%) =g svafa & o

(W) sfifiea safa & fadl

(iv) STATY 9fiemg <l TG S ebal € WEl—

() WoFg-3THvA & (7) sifass i & = &
(W) 3mfa Searg Fffa Rl o 2

(v) Y19 feaa & wifrd o ) g 1 S 8—

(31) arafas @K 9 () F7afa ara |

(9) afted=eite @vma 9

(vi) 3 5w Bug WHY SHfishan SrRiwue[ W HRa €, ) 6 ava ei—
(1) = (@) <

(®) =&

(vii) ¥ SEIRYE @ S ) STl @, 6 faega afedien ) aen e ee—
() =1 : (%) fa=w

(W) =€ = W@ (=) e T @ el g

(vii) T 9R T9 F T THY A we agel T8 e @, 3N wel S a—
() e W\ N () IATYRHT TR

(9) W wuY (%) waifa

(ix) Y RGN B AT G I T T HG1 I D v S i Bt o v IW
gl W e—
() ey T () SERYA ¥
() e wmry : (%) wifem sm9
(F=(3i) (F) (i) () @ii) (F) @(@v) (F) (v) (3) (vi) (F) (vii) (&) (viii) (F)
(ix) ()
00
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ISRV & ford wnnlt & wa & agd A QEue 9t 4 3| o ) o 9 @
et A foetr ) SEEd YoY% THY $9 YR @ 91 aigd—

Material Quantity Variance = ¥ 5,000 Fav.

Less Material Yield Variance = ¥ 3,000 Adv.

Net Quantity Variance = ¥ 2,000 Fav.

[ FA W € e 769 B, Ha A Ao w1 F€ 99w R

Frastuita v stfra=ita faemor

(Controllable and Uncontrollable Variance)

foreror-fr=n & frgmanig faswoll S =iy faerol § yuw 3 seegs B
2 foraror 7 Reafr Prassofte wa augh st § srafs sue fe fngt safa srerar fasmr
Frdre i IeRETHT SETET I | I F ol wrh swam faor ) g it
9 % SR 2 7 T ford B ) Friteror ¥ el & fordl, Sferentfa sifeenrd =1 et
sifiren) &1 Frgfaa & o, %9 sifaedt =1 ufew frm &) ool & 7 & ol srean sifl oY
TR 3 war 3§ arard % ford SRe s o wahd 31 war & gfewo § Pl
faeroll =1 oy e B © 4T gel W YRemy Fra=ror &) e et 1 Yoy 5 faewoit
R A & T 1 331 Gehell B 376: WS- SIS 1 qE heiod & il € foh foreron &
Eﬁﬁmﬁﬁwﬁﬁaﬂaﬁaﬁuwhﬁwﬁﬁqﬁﬁaﬂtﬁmﬁwﬁ

|

=ity faeror @ snvrg 3@ Rafa @ § wafen faeror & fa2 fedt safaa
arorar farvmr faohe = et Tl aRraT wrEes | W U1 freR A ol @ A g S
i wora ¥ a1 @ et B #1 Ser F ol Yefla & SR aegh-= & 9fe, smm
w4 g F HRor aenh & e ¥ gfe ik 3 o € R fae sioga @ im vy
o ford forelt wafem an forvm oIy &) STRERR &l SeT™T W1 Wehal @1 A HRE ¥o79 &
Fram Q o< B €1 fas A 39 freoll B @ A § ol s F dies w5 e

fafa=1 faaRon =1 feert 1 & ford Framavitg fa=rol i av-a1f @ ¥ g
T e @ i srfg=oiig f=Roll %1 @9 (Inventory) Sﬁ'{ﬁiﬂqﬁﬁm(costof
goods sold) ¥ THRA =) WM A I IAEA Yed F FIUE A Wi few w2
wwm(Classiﬁcaﬁm of Variance)

¥ gftered R aeed fra=ror ol R F er=ria fasRel &) o 9 SR 2
Y9 SREmd § Sid oTd faratol ) TOAT Y S @ @i 3R SR e del % SER |
frafafed s&R ¥ wiiga e s @—

- (1) Yeag 9Bl fq=Xv1 (Direct Material Variances)

(2) wa% #14 fG=X0 (Direct Labour Variances)

(3) Sufe™ fa=atul (Overhead Variances)

(1) uitadvie Iufieaa faeRor (Variable Overhead Variances)

(8) feer 3ufteag fa=tor (Fixed Overhead Variances)

Cost Variances at a Glance
l
s 1 - 1

Matenal Variances Labour Variances Overhead Variances
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7. G ST GgA fa=te @2 @ oA ;= F S @2
8. 5 Fetved fa=Ron =/ @7 s g fafad

T:Rﬂﬁﬁm (Objective Type Questions)
1. garsd T = FrAfefea wa= ‘oo’ € or ‘srem

(i) foerwr s § 9ar ? W wfaga

%(ii)ﬁmmmam@afﬁaaﬁmﬁﬂwwmm
Tl B

(iii) Yo foraTul q@ S~ Bl @ JafE aafas Jrar e T e i i
mﬂfw?

(iv) ErER I9En fareror Sl T fareRor 1 9% Wi @ S foe arfae IaRA ¥
fere smifta A SR wgE STl A % WY SRR % HRO I Al 2

(v) SRl Scafa-aen faaro ofk gl Su-svdm fraror fa=1 oftom 2w R

(vi) f arfeeh I T Sare @ feres @ & ot Seafa-amn fa=wo e

g

(vii) SRt Ieafa wEn ferewor R SwEnT faeror w1 I9-fasRw 3

(viii) SRt I9-I9Em famror Gl Seifaa IwEnT faeRr w1 S-famo @)

(ix) OB fago faeror Trel deifaa I9Em et % W @ g% 2

(x) TR fago foewe T gea faaRor 1 Su-fasrar g 2

(xi) Tl Yo faeRw et we SR At s qeu arafas g @ %9 §)

(mx)mwﬁmﬁmﬂ%ﬁaww%ﬁﬁmmaﬂtmﬁmaﬂa%
s S Bl )

(xiii) T8l 7™ R foaor arafas Saea ¥ fad feifa i sy aegh ok
THA ) TR AR T qgh W AW 2

(xiv) 4 faam F) gl 1o famw % 63 SRt g aifed)
m%(xv)ﬁmwmﬂmmwm@ o <X fa=tor ) w2 @t

|

(xvi) Fafsra wwa faor &sit t orgad faerw 3l © wam

(xvii) 5 FHATE Frawo Tea g e 9 )

(xviii) QY foreroT e & FEFIE 91 FFOAH R TN @

(xix) far=Tor faveiwu sEeA &) STHRTs <9 ¥ Teg ol e

[Answer : 4 : (i), (ii), (iii), (iv), (vi), (vii), (xii), (xiv), (xvi), (xix);

I : (v), (viid), (ix), (x), (xi), (xiii), (xv), (xvii), (xvii).]

2. flaa == W -

(i) forew fagemor & feremoli &1 .............. LR A R

(i) for=or syt Frearet ok e, freqre & &9 =R 2

(iii) GrER A RO . o ik . ferarcur @ it Sg-faifem
faan ST 21

(iv) 3% arafas o / F9IfYd ara s & @ o[ e ) L

S0k
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(v) afe arsfaes SaRE-aE SHfid Iere-arn § aiftew & @ =T ... B

(vi) ¥gF AR & FEifta SR areafaes gel SRR FH e Y Tom, g
e faereT g 21 .

(vii) arnh fagror foragor ot 391 X @ FE o .. i frsror argara & =

(viii) ARt S famrar (1) |mnt fagor o ok (2) ... Y I9-faafea
fogran e 21 :

(ix) SER ST-ITENT foraRo 1 EA AH W v o3

(x) st Safa-am faeo 9o ., =t %1 % Su-faww 2

(xi) f STfee e WA e Q arfos @ & g g faemer . FE S 2

[E5T) R el SArT foreer 1 9% W & S Rk srafos Sared % fed s

1 3R TYE aRafa® A % e SR % HRO IGH 2l 2

(xiii) EmTR gy foraror yoqet areft A forror =1 98 97 € & e T fagor
LAl e IR v, ¥ W9 3R F HAU B

(xiv) W @ fa=Ror om & e @ o & FW B

(xv) Fifsha T@ R S A R GA R . |

(xvi) fifsra wog famor wéq ... A 2

(xvii) IRl IERT F A To9 Y@y G T PIE i T qRafas Weat
L o 0 S foreor wd ¥

(xviii) 59 fagor fa=mw &1 . @ FE R

(xix) SO TR O A M R GI R .. i

(xx) A Aol A e 400 To gEE € SR wrHh IwEM fERoT 100 To
At @ A QR ged R LEliis]

(xxi) IRATHF ITEA-HAY/IAEA-H 1 W Foh1E & = ?

[3¥R : (i) T, SAREAT (i) AR (iii) &, ST (iv) FIRA (v) ITHA (vi)
g Wl ) arafas W (vil) $ arRafas W (viid) SY-I9E0T 91 Iefa-wme e
(ix) I (x) ST (xi) Wihe (xii) FEh I fa=mn (xiii) XY, Arafas® (xiv)
%9 i areafeeh a1 (xv) Idle Hours + Standard Rate per hour (xvi) et (xvii) 59 @
(xviii) Gange Composition Variance

(xix) RSH = Std. Hours. of each type of labour

Total of Std. Hours of all types of labour

(xx) T 500 TR (xxi) TG M)

x Actual Hours Total

3. WEl SW gFa-
(i) areafar @d SR THIfe | W SR weeldl —
(1) fo=rm (%) @™ (a)ﬁamaﬁama

(i) GreR @ yifta o 3R w6l SRt | @ ST Hee 8—
(1) T I faerer () S Safa-urn fasrer (1) wnnt |rm fa=)o
(iii) Ffera T faerw wia o ¢—

(1) g (/) Wi (R) ™

(iv) %1 Feivet fer=tur &l MU 6l S @ Fefh—

(1) s U gRdfaes HESK Hudl ¥ {9 €
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(¥) SR per unit of output (Std. Loss — Actual Loss)

(¥) SR per unit of Input (SQ — AQ)

(xvi) 9 B FEIE T R O % R SH-W g3 o] e e g —

(31) SC=S8Q + SR per unit of material

(¥) SC = Actual Output + SR per unit of output

(") SC = AQ + SR per unit of material

(xvii) 51 FEGI =T /@ A % fd SH- v g —

() SR p.h. (SH — AH paid) (&) AR p.h. (SH - AH paid)

(¥) SRp.h.(SH—AH worked)  (®) AR p.h. (SH - AH worked)

[3: (i) (30), (ii) (F), (iii) (F), (iv) (&), (v) (), (vi) (37), (vii) (37), (viii)
(]), (ix) (9), (x) (), (xi) (), (xii) (37), (xiii) (F), (xiv) (F), (xv) (), (xvi) (F),

~(xvii) |1

TIARTeh U9 (Practical Questions)

Material Variances :

1. 3T fo o sy wftera syonedt st @, Frefefan e sem #e @

qra® ;. IR 2,10,000 3HTEAT
e areht 2,80,000 gehrzal
|mEt w |ara 2,52,000 %o

1Y : fifffa g #1 35 sHFRA % o) W = 50 sHEAl
gt @ Hwd =1 Fo Wid 3HE
TOAT & (37) WER A faER
(%) 9 39Em fa=rm
() wrEl g faw
(Answer : () T 48,000 Fav., (&) ¥ 20,000 Fav., (¥) ¥ 28,000 Fav.)
2. TNt wigd T ol R % wfies ¥ fach s §1 9 SEi o T R
& fEme armh A & el a7 Sifedl Sre 1 weift 9o 40 To MR R B SHE
2007 % W49 g ¥ 500 furo wraht s+t ¥ et arafas e 45 Fo M forio am
g B 1,040 faei 1 IEA €3 M T0AT Hifew
(37) |reEl ar faem
(9) Wit e fa=ra
(®) gt Iafa-aen fa=to
(Answer : (31) T 1,700 Adv. (&) ¥2,500 Adv. (¥) T 800 Fav.)
3. Prefafaa g1 @ (i) o o e (i) et gea faeo ik i)
I9G fa=Rel | AT =1
Fa R 6,000 foreiEm; shid WRER %1 4eF 18,000 Tol
| fFeh dar o & o} 25 el wonfim wEm
THifta qed 2 To Wia fepeh, armht &1 i e 1,000 feh)
I dar Al 160 e
(Answer : C.V. T 7,000 Adv., P.V. T 5,000 Adv., U.V. ¥ 2,000 Adv.)
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4. T BHATeR Fmiar A 3 fod TR 29 (sunmica tops) M sEar &1 fFrafafaa
T @ 7o fawrer, 3vam e ol Sy faswor 3@ &0 ¢

TAIERT S S RS S W 4 o g
HAHIgR] &1 9fd 97 Fe T g 5.00 Fo
TSI o1 ARAAfeeh SR 1,000
FRAfas S GTHIEH 4,300 a7 Fe
TR &1 i 97 e arfas vy g 5.00 To
Iy feeol & fod S St 22

(Answer : P.V. =Nil, U.V. = T 1,500 Adv., J.V.= T 1,500 Adv.)
5, arelt arTa fastor & o & SR SHE SR g faveer w1

Nid s YAt Snei-wen 2 fFen
wia ferel wifea ged 5 %o
hid Il & SRafas g 4,800 To
w5y 200 fen
o s arafas 9 2.5 ferell

IeAE 240 THEAT

Hints : Material Consumed = 240x 2.5 = 600 kg.

Material Purchased = 600+ 200 = 800 kg.

Actial Rate per kg. = ¥ 4,800/800 = ¥ 6 per kg.

(Answer : Cost ¥ 1,200 Adv.; Price T 600 Adv.; Usage T 600 Adv.)
6. T AT faeReT Y TOAT ) SR IHET RN GRI forverar 1

wfa s wefaa |t ars 20 el
Nfa foFen it e 10 %o
Wi T arafas qmE T 25 faen
sfd farell arafas 7o 9 To
TR @ 50 el
Afm @ 10 seh1gal

Hints : Actual Output = 50+ 10 = 60 units.

(Answer : Cost T 1,500 Adv.; Price ¥ 1,500 Fav.; Usage T 3,000 Adv.)

7. 59 ) T W 1 T 3,000 THIEET; R ) T TR T e 9,000 Fo; T 2
¥R e & R eV GRS Wi e 25 ThIEdl; ST 1 SEIY ged 2 o Wi
¥S; weal 1 YR R 100 ;s @ s @R 600 sETEal; arafas
IR 80 I

U I (i) TR S faer, (i) areh ge faerw, (i) |t anm fao

Hints : FIFO method of material issue has been assumed.

(Answer : (i) ¥ 1,000 Adv., (i) 2,400 Adv., (iii) 3,400 Adv.)

8. frefafaa g @ e () (i) b i) 35 R (iv) STEn faeror R
TR FU :



Tererror ferwetwor / 479

Standard Actual
Qty. Rate Total Qty. Rate Total
A 10 2 20 5 3 15
B 20 3 60 10 6 60
C 20 6 120 15 5 75
Total 50 200 30 150
(Answer: C.V. T 50Fav.;M.V. ¥ 10 Adv,; P.V. ¥20 Adv.; U.V. T 70 Fav.; RUV
T 80 Fav.)
9, T VAR IeR 1 At 1 wwif iR arefass a3l S an & =y
Y AR Frefafaa ge a2
Standard Actual
Mix Rate Amount Mix Rate Amount
Material A 4kg. T20 80 4.5 kg. T 15 67.5
Material B 6kg.| T30 180 5.5kg.| T34 187.0
Total 10 kg. 260 10 kg. 254.5
Output 9kg. 9.1 kg.
frafafaa faewol # om F0—
(a) ErpERt ra o= (b) Wt e faawo
(c) arBRt | fa=m (d) wrsR faso fg=ro

(e) T3t Scafa-wrE fa=wor
(Answer ;: C.V.= ¥ 839F;P.V, 0.50 Fav.; Q.V. T 7.89 Fav.; M.V. T 5 Fav.;
Y.V. T 2.89 Fav.)
10. 31 & 9§ {0 w fafime Icurg &R @ el i sede Wil AT 2 %o W

THRE T TR A @
Material ~ Quantity (Units) Price (3) Amount (%)
X 100 2.00 200
Y 200 1.70 340
300
Less (10%) 30
270 540
w fafire srafa & arafas o™ @ &R 3 ¢
Material Quantity (Units) Price (3) Amount (%)
X 215 1.80 387
Y 385 2.00 770
600
Less 70
530 1,157




480 / T fgeraor wd fra=n

Y T H R
(a) G APE fa=am (b) Il 9o fa=ror
(c) 9 fasror fa=ro (d) |t Ieafa-Amn fa=ato

(Answer : (a) T 97 Adv. (b) T 72.5 Adv. (c) T 4.50 Adv. (d) T 20 Adv.)

11. 9Rd B2 a9 T To IcqreH 1 M ohar ], frae sifi fasior 39 5 2:

Material X 60% at ¥ 20

Material Y 40% at X 10

Iared | AEA (input) T TEMNT & 20% B1 ARl TH H wW *F SR W@
fagor o afiada @@ TN SEE 2019 % IRdfdd 9o 39 YER & ¢

Material X 210Kg. at Y20 =%4,200
Material Y 190Kg.at X9 =X1,710
Input 400Kg. ¥5,910
Loss 70Kg. —
Output 330Kg. 35910
R faell ) o w1

(Answer : Cost = T 690 Fav.; Price= ¥ 190 Fav.; Usage = T 500 Fav,; Mix = ¥ 300
Fav.; Yield or Revised Usage = ¥ 200 Fav.)

12. feht TaEm fago =) wEifE o frege @

20 To Wfd fohae M T W 40% @At A

30 %o ufa fFae # T/ 60% A Bl

IeT ¥ AW (input) F 10% H) FAY 7 gl &1 T orafa ¥ Frefafaa
ardfereh g GHE R T €

18 %o Wfd fpdlo &} &Fd W A=A A

34 o Wi fhuTe H &P W 110 fmle @t Bi

8 SeuTeA %1 a9 182 fmte 21 ot wifd

(31) wr arT farEro (%) Al e faawu

() gt 39 famwm (=) areft fasgor fa=gon

(¥) gl 3w fa=won

(Answer : (a) T 102.22 Adv.; (b) T 260 Adv.; (c) 157.78 Fav.; (d) T 100 Fav.
(e) T 57.78 Fav.)

13. seArsht fefo < e Qe & fagw g1 “waw’ Iare Ffdd o 81 TR % 100
feptllo & WAE o= A 125 fopato waR AN ) S @1 5o 2019 H WA’ W 5,600 fepwTo
%w;q%;méo o9 3R R T A g 2019 g ¥HU 3R R fqew =
bR % : . '

Raw Standard Actual Quantity of
Material | wiy (%) | Price per kg. Mix Price per kg. | Material
d (%) ¥ Purchased
(Kg.)
A 50 20 60 21 5,000
B 30 10 20 8 2,000
C 20 5 20 6 1,200
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[t Aref forsrel @t o R

(Answer : MCV = T 17,500 Adv., MPV = ¥ 3,000 Adv., MUV = T 14,500 Adv.,
MMV = % 7,500 Adv., MYV = X 7,000 Adv.)

14. 100 fFalt TmEfe € F fad yafeq aref @ @ R R

THAAS @ 30 fael, T 4.00 To ¥fd fHal
T ard 40 f&ell, T 5.00 To W fael
TR e 80 e, X 6.00 Fo NfI famell

T E9E (Batch) T frfafaa fasor @ 500 fea Tamafe € &1 oA gan -

Tt 140 fel, A 588 %o
i 9 220 fell, @ 1,056 To
Tt S 440 fHeh, &E 2,860 To

¥fa 100 fFalt TR € = i ara | arafas @ 3 faerw # fad

saafa-arn, fasor sk qea s # @ dvem 22
~ (Answer : Cost = T 100.80 Adv., Price = T 4080 Adv.,; Mix = T 667 Adv.; Yield =

¥ 53.33 Adv)

15. Hie arged o 67 x 67 x 1/8” & WMo HR 1 @l 25al s o1 et
e @ AR oW kA % o e A e €

(i) T @ fer=ron

(i) @ fo=Rm F1—( 1) gea SR(F) IwEm ¥ su-fawem)

(iii) ST far=Tor F—(31) fagor o («) Scafa-umn A favemon

1/8" B 20,000 T HIZ 25 F ScUIEA & oA savaw A (compound) 1 TH
ek a0 59 SR ® : :

Direct Materials Qty. (kg.) Price perkg. (%)
A 600 0.90
B 400 0.65
C . 500 0.40

fewrat 2019 ¥ 8 fusor wisrarE g 3R Iugaa arcafas qEliEl 39 w4

Direct Materials Qty. (kg.) Price perkg. (%)
A 5,000 0.85
B 2,900 © 0.60
C 4,400 0.45

feqmer =1 arafas WA 6,20,000 RS 9
(Answer : (i) T 200 Adv. (ii) (a) X 175 Fav. (b) T 395 Adv,; (iii) (a) T 55 Fav.
(b) T 450 Adv.)

Hint : Actual Output =
16. fr=fafea fea gds @ e fasol =6t o 1

20,000x12x12 = 80,000 tiles

Material Std. Price per | Std. Usage per | Actual Usage | Actual Price
kg (%) unit (kg.) (Kg) per kg. (%)

A 5 3 300 9

B 4 5 250 3
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Cc 10 4 218 8
12 768

ARdfash IR ¢ 80 units.

(Answer : Cost= T 806 Fav.; Price = ¥ 514 Adv.; Usage = ¥ 1,320 Fav.; Mix =
T 120 Fav.; Revised Usage = T 1,200 Fav.; Yield = T 1,200 Fav.)

1;.Wm%wa%mﬁw%faﬁwﬁammﬁqm
snafa € :

Chemical Usage (Kgs.) Price perkg. ()
A 240 6
B 400 12
C - 640 10

T e A i @ WA @ #6.25 T IR g3 ¢

Chemical Consumption (Tonnes) ' Cost (%)
A 1.6 11,200
B 24 30,000
C 4.5 47,250

faaron =1 favemo &

(Answer : C.V. = ¥ 9450 Adv.; P.V. = ¥ 5,050 Adv.; U.V. = T 4,400 Adv.;
M.M.V. = T 537.50 Fav; either R.U.V. or Y.V. = T 4,937.50 Adv.)

18. 100 fmmo & Foiiwa #1 Ffia F0 F fag 2 To wfa fvel & w9 o8 | 80
o Al ‘a7 3R 5 To Wk febel F WHIY YA W 40 fFzrio TR ‘& WAl 6 91 A T
e W 2.10 To Wi fehell % gea W 70 Fehzro wrmait 3k 4.50 To W fobell gea W 50 fermo
Tt X T A WA R TR i 102 fee i H1 I e W faeRor F 1

(Answer : MCV = ¥ 4,80 Adv., MPV = T 18 Fav.,, MUV =X 22.80 Adv.,, MMV =
% 30 Adv., MYV = T 7.20 Fav.)

19. TF SR@M % wH19 fasor A 60 fhe X 3k 40 forme Y #1 Scargq & w9 &1
30% &1 X &1 599 TE 6 To N foFmo T Y 1 12 Fo W firmo 21 arafrew firsror sk
IR 39 TR 9 :

X :82kg @ T 4.50 per kg.

Y : 68 kg. @ T 8.50 per kg.

Ireafaer IAUEA = 105 kg.

g} ol =t o e

(Answer : MCV = T 313 Fav., MPV % 361 Fav.,, MUV = ¥ 48 Adv., MMV = T 48
Adv., MYV = Nil)

20, SR TEE 1 FHIG fiIsor 39 TR @

Materials Weight (kgs) Price perkg. (%)
R 5 5
S 2 4

T 3 10


http:4,937.50
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IORA H IS &7 3RH (input) T 10% K OH TN (scrap value) T R
80 firsrol Q T 1 Tk WIE 1 ArEdfas® e 724 fohel @11 71E % <R | 1 arafaw
%9 3R S0 T TER 0

Materials Weight (kgs) Price perkg. ()
R 416 5.50
S 168 3.75
: T 256 9.50
Frfafaa fa=mol =i o &1 :

(a) Material Cost, (b) Material Price, (c) Material Mix, (d) Material Yield.
(Answer : (a) T 282 Adv., (b) T 38 Adv,, (c) T 20 Adv., (d) T 224 Adv.)
21. 7T HfiTed ¥ T T T TWEA 91 F THY TR A T THR
300 kg. of A @ X 10 per kg.

500 kg. of B@ T 5 per kg.

500 kg. of C @ T 6 per kg.

e e ¥ 100 27 WWEA a9 T fEs @ ga

35 tons of A @ T 9,000 per ton

42 tons of B @ T 6,000 per ton

53 tons of C @ T 7,000 per ton

et farerell ) Torn e

Hints : Convert the input tons into kgs. and rate per ton into per kg.
(Answer : MCV = 88,000 Adv., MPV =60,000 Adv., MUV and MMV = X 28,000

Adv)
22. T& SR % 100 Fhate % ford FAI wrdt o Frefefaa ser @ o @
Materials Kg. Rate
A 20 T5
B 30 T6
C 50 not known

500 ferano % Seaic & T 49 N Frefafea a1 sw@m T o

Material A : 90 kg. at a cost of T 468

Material B : 170 kg. at a cost of T 986

Material C : 290 kg. at a cost of X 2,175

W 100 frme Tt Gt T faeror sk wrER Ivdm faewer wEw: 95.80 Fo
e 3R 70 To Hfige &1 TOER C W T g T R

(Answer : X 7 per kg.)

Labour Variances :

23. Y14 AT e Frefeiaa guen gvi @

Labour rate : % 0.50 per hour
Hours set per unit for production: 10 hours
Actual data are given below :

Units produced : 500
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Hours worked : 6,000
Actual labour cost : T 2,400
o fa=well &) T 1

(Answer: (i)L.C.V. T 100 Fav,, (i) L.R.V. ¥ 600 Fav. (iii)) L.E.V. ¥ 500 Adv.)

24, T 3R T QIR F i T F Dyl 6w 15 99 9 s
"1 20 gU S 3 &1 S IR F 2wk Sl Whfa & 5w 6 @) sevaEd el & au
SHTY A1gd <X 5 To W si21 31 31 W 2019 ) G T H TH’ Y 10,000 THEH a9 T
1 15,000 sl ffi &) TR o) arcafas 1@ Y T 6 F FA A 4,50,500 4 &
arfas® TG faa 23,00,000 Fo &1 38R 12,000 W & {2 7 Fo Wfd wier, 9,400 6 &
& 7.50 o W wver a" A9 GUSl & f3 5 Fo W wvel F T J- raH febar TN IR
5 fa=ol & TR R 2

(Answer : LCV ¥ 50,000 Adv., LRV ¥ 47,500 Adv., LEV ¥ 2,500 Adv.)
‘ 25. Fre=tifera el @ o0 wra farerer, 5™ gt foremor, 51 Frigpwer fawwe aem

o IAMI-Tp farawer ) o Hifeg 3k o sW H gfie wifvy

Standard Actual
Output : 1,000 units Output : 1,200 units
Rate of Payment : ¥ 6 per unit Wages paid : T 8,000
Time taken : 50 hours Time taken : 40 hours
{Answer : LCV T 800 Adv., LRV ¥ 3,200 Adv., LEV and LYV ¥ 2,400 Fav.)
26. TF HREH A :
(i) faum & sftaersl i 9w e 50
(i) U HeTE N raH a5 | g S 40
(iii) S 5rver a9 F F9IfGE 0.80 %o
(iv) "= fafSpa a9 st = ¥ T g fawm &1 wfa woer

Iy S 20 3Tl

e fofime T A 9% 9 T o fasiell 9 S % R0 IaE R T5E % 10%
T F FENE 1,000 THED H AT g IR TIAH F areafas < 0.90 Fo W wvay
i A fareroll Y TR SR

(Answer : Cost Variance, ¥ 200 Fav.; Rate Variance, ¥ 200 Adv.; Efficiency
Variance, ¥ 560 Fav.; Idle Time Variance, ¥ 160 Adv.)

27. TF FREM A 100 H o g € 3R woigd #) aivaa 2w 50 1w wver 1wk
TTE S FrRiER) 502 40 ¢ 3 sy fsareA 10 gEd wfd WE (gang) WY 1 A
% TF T § 50 TG I 50 T Wi wver X R, 10 Foigd A 70 W wfa R MY
s 40 woigd ®1 40 T ¥R w02 N TV A9Gh D ) arafas IQEA 380 THEE A1

TER) &% e § 9 F RO FREA W 5 g0 FW TE | Tl

gfaa s faswon #t e Fif

(Answer : C.V.= ¥20 Adv.;R.V.= ¥ 80 Fav, EffV-?lSOFavITV_.?ZSO
Adv.)
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28, frfafaa @ o9 fa=woi =t 7om 1

Standard Actual
No. of men employed 500 485
Production units 50,000 49,000
No. of working days in a month 24 25
Average wages per man per month T240 T225

(Answer : LCV X 8,475 Fav., LRV T 12,125 Fav., LEV T 3,650 Adv.)
29. dad fra Hied A T AR ) Frefefad yHify dre fifide 5 2
99 : Hfdq 3R 10 HU
| ;T Hfa "o s
31 fegwR 2019 # 99 o7afy & o arcafas e 59 SR o :
I 1,000 FHEET

TG M ;. IeReA 10,400 w72
ffsra a1 400 woe
&l 10,800 w7
% 56,160 1 Y far a1 (Wi =var eiwd 2 5.20)1
s faeRal & T A

(Answer : Cost= ¥ 6,160 Adv.; Rate = X 2,160 Adv.; Efficiency = ¥ 2,000 Adv.;
Idle Time = T 2,000 Adv.)

30. 100 s Al U e & fmioh fqum ¥ ‘waw’ I|IG &1 WA I 25
THIEEl W wuer ?1 iU HSIgh W 6 Fo Wi W WUl 1 42 WU % Tk W@ A Th
M T & FHIOT LT FF THE 61 5% T 8 TR & a6 3 T #11,040
ghEal faffa #1110, 30 3R 60 sfiri & for arafas e &1 T8 wia "ve wegd
FA| 6.20 Fo, 6.00 To 3R 5.70 To &) TS fa=on H TFT F

(Answer : (1) L.C.V. = ¥ 432 Fav. (i1)) L.R.V.= ¥ 672 Fav. (iii)) L.LE.V. = T 1,020
Fav. (iv) LT.V. = T 1,260 Adv.)

31, T Fmin g | i 1 e 39 wR €

N et
TG g ° €e 20 10
wfd =t i <X 20.90 20.80
Rafas T W ge 16 14
wd wve aRafeE €1 Z1.00 20.70

48 U2 % T Ywle N Irafas 9 §9Y8 H1 1,200 SHITT SUf 1 IR @M awiglt
foremoti =t woE

' (Answer : Cost= T 198.40 Adv.; Rate = T 960 Adv.; Efficiency = T 188.80 Adv.;

Mix = ¥ 19.20 Fav.; Revised Efficiency Variance = I 208 Adv.)

32. 3F & wEF F W T HE & @ 100 sl i, 40 std-wfafa
HaafE 3k 60 smfafara wHEiEl ) 30 xR FE HE i W GrafEs Tegl
FAN: T 60, T 36 3 T 24 € 80 W@, 50 r-wffara ik 70 iyt wd=ifEn 2
arae o 32 W ¥ w1 qu e 3k IR w2 65, T 40 3R 2 20 Hrafes Awgd
]
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5 e faerer, sm R faaww, am fggor faeror ol sm sEigvem fsrw 9@
FHif)

(Answer : C.V. ¥ 8,800 Adv.; R.V. T 10,240 Adv.; Eff. V. T 1,440 Fav.; Mix V.
% 19,200 Fav.; R. Eff. V. T 17,760 Adv.)

33, S & Tk TE F WA e SR i @ % e ¥ Frfafad g @

e
Standard Composition Standard Hourly Rate
10 Men Re. 0.625
5 Women 0.400
5 Boys 0.350

fd Fr % STHER U Twre ¥ 40 W2 2 € oK v Tare a1 i SwreE 1,000
THEE 1 U T Tl F wyg W 13 Yo, 4 fordl otk 3 e & a A w7 et
Heigl 39 YR @ : )

Men @ Re. 0.6 per hour

Women @ Re. 0.425

Boys @ Re. 0.325 per hour

S fAfsha 999 & R0 gae § 9 e T {1 TR gaw ¥ qafas Iaes
960 THIEAT a1l A F :

(i) ¥ T = (i) =™ fas o=
(iii) 5™ HREER qug fawm (iv) 9 IERE-"mE farm
(v) s wEFaear faewon (vi) o™ @ o=

(Answer : (i) T 12 Fav. (i) T 29.45 Adv. (iii) ¥ 21.55 Adv. (iv) T 4 Fav.
(v) T25.45 Adv. (vi) T 35 Adv.)

34. AW e & feral A Frefafag e e ™ & -

yifya qreafas

Tt & 60 WGy, X T2 W "uer 70 Wi, T T 2.50 Nfd wuer

Tl 40 99X, W T3 wfa wuer 30 HeIgY, W T 2.00 ¥f wu

¥ Ao S que — 100 Hu2 wfa Tt IRdfas wve — 90 =R

I IR — 2,000 SFTEAl Frefereh e — 2,100 IHEAT

o fa=Ton &1 T il '

(Answer: Cost ¥ 4,050 Fav.; Rate 450 Adv.; Effi, ¥ 4,500 Fav.; Mix ¥ 900 Fav.;
R. Eff. T 3,600 Fav.)

Overhead Variances :

35. 19 f&a we | yRadwie ufters faewo ) oM 2

Budget Actual
Production ' 5,000 units 6,000 units
Variable Overheads T 15,000 ¥ 16,500

(Answer : T 1,500 Fav.)
36. T foto A Frfafaa o wra it 7w 2 -
Budgeted production for the period 600 units
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Budgeted variable overheads ¥ 15,600
Standard time for one unit 20 hours
Actual production for the period 500 units
Actual variable overhead T 14,000
Actual hours worked - _ 9,000
frefafaa fasol it T 3 -

(a) Variable Overhead Expenditure Variance

(b) Variable Overhead Efficiency Variance

(¢) Variable Overhead Variance

(Answer : (a) T 2,300 Adv. (b) T 1,300 Fav. (c) T 1,000 Adv.)
37. FrafafEa wis @ sftedaeia saftea faerol it Tor w1 -

Month’s Budgeted Production 500 units
Budget or Standard Overheads 7,500
Standard Time per unit 10 hours
Actual output for the month 450 units
Actual hours worked 4,200 hours
Actual variable overheads % 7,200

(Answer: T.V.0O.V. ¥450 Adv., V.O. Exp.V. Y900 Adv., V.O. Eff.V. ¥450 Fav,)
38, o9 file I U Frfeifgs weie wem fordl &

Budget Actual
No. of Working Days 25 27
Production (in units) 2,000 2,200
Fixed Overheads (in ) 3,000 3,100

a9t fer Sufterg X T 1 Wi wver 21 s % arafas 5o 3,150 A

I9fieag fa=on € ToEn

(Answer : C.V. ¥ 200 Fav., Exp. V. 100 Adv.; Vol. V. ¥ 300 Fav.; Eff. V. 150 Fav.,
Cal. V. T 240 Fav.; Cap. V. T 90 Adv.)

39, ue Fafof w1 Scare swie 1,26,000 TRy w9 21 9 & T Sufte
& for 50,400 To H TS A HLEU H ARt IR TR 4,200 Fo R .

- 9f ¥ 50 FEER F9E B4 ¢ fAed ¥ 4 wEh ¥ ) W) gww # e %

W T T2 168 1 SAEA FHN 60 gy Hfd Wuer a1 Ed) ¥ awafas sened
10,100 I a1, ffsha T7a & &R 2 "we & gU

T A8 * ) sweg W SR 4,032 Fo A

e SuRema fa=el &) ToE 63 _

(Answer : Expenditure = ¥ 168 Adv.; Volume = ¥ 8 Fav.; Efficiency = ¥ 56 Fav.;
Capacity = T 48 Adv.; Cost = T 160 Adv.)

40. & fafere fawm =) arafes frael & @@ ¥ feffag @b oo §

40 HU3 % E® & fad sEfta Saea 2,000 TRl

yia feR Sufema ¥ 2,000

e S 1,800 3Rl
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rEdfah HRSR] TqU2 32
aredfos g Sufte 22250
Iufteqd fa=gon &t oM &)

(Answer : C.V. 3450 Adv.; Exp. V. Y250 Adv.; Vol. V. 200 Adv.; Eff. V. 3200
Fav.; Cap. V. = T 400 Adv.) '
41. Yo 2019 HE & o) MUR Th wEA F FrAfafad o A ¢

Standard Actual
IIEA 3TN ! HE 15,000 8,000
- EUS 30,000 17,500
yRadeie Sufteag 30,000 215,500
e 3Iufte™ 45,000 246,300

forerult =1 Frefcer &3

(Answer : Variable Overheads : C.V. T 500 Fav.; Exp. V. ¥ 2,000 Fav., Eff.V.
¥ 1,500 Adv.; Fixed Overheads : C.V. ¥ 22,300 Adv., Exp. V. ¥ 1,300 Adv,, Vol. V.
T 21,000 Adv., Eff. V. ¥ 2,250 Adv., Cap. V. T 18,750 Adv.)

42, <R fd wds | Tor FRA

(31) Iuftera =4 (W) Iufiea smal 3R (W) SuRema o fa=eon

yoifaa arfas
16,000 w72, ¥ 1.50 Wi 15,000 w2 3R aredfas Sufera
HUg H W @ % 25,000

FAIfa FRE IR T T TOAT R 36,000 TG IR R 24,000 T 519
HU & SMMER R H T R ‘
(Answer : (1) Exp. = ¥ 11,000 Fav. (2) Cap. = ¥ 13,500 Adv. (3) Eff. = ¥ 1,500

Fav.))
43, Trafafaa smme s 9 Rer suRe fa=oll 6t 1o &3 -
Budgeted Actual
No. of working days 20 . 22
Men hours per day 8,000 8,400
Output per man hour (in unit) 1.0 0.9
Overhead cost () 1,60,000 1,68,000

(Answer : (1) Cost V. ¥ 1,680 Adv. (2) Exp. V. ¥ 8,000 Adv. (3) Vol. V. ¥ 6,320
Fav. (4) Calendar V. % 16,000 Fav. (5) Eff. 18,480 Adv. (6) Cap. V. ¥ 8,800 Fav.)
1YY





